Bid Opening Results For:

IFB NUMBER 20674
BID OPENING 8/9/2007
GROUP NUMBER 32000

PURCHASING OFFICER  James Malone

TELEPHONE (518) 473-2428

DESCRIPTION

Guide/Bridge Rails, End Sections, and Accessories
(Statewide)




Group 32000 - Guide/Bridge Rails, End Sections, & Accessories (Statewide)

PAGE 32

PLEASE USE BLACK INK OR TYPEWRITER WHEN

PREPARING YOUR BID.

BE SURE YOU

HAVE

INSERTED YOUR COMPANY’S NAME IN THE BOX
)

Bidder

DT RASE ):-\_:mc,,

TYPE 1 - GUIDE RAILS, POSTS & ACCESSORIES

LOT I (Items #1-30) CABLE GUIDE RAILING:

CLASSC-(Lot]-Item#1)

Jtem
No.

L.

Description

Cable, 3/4" Round Wire, 3 Strand-7
Wires per Strand (M606-1R2),
(min. order, 2000" reel)

CLASSD - (Lot I - Items #2 - 14)

2.

10.

11.

12.

13.

Hook Bolts, 5/16" x 2" long,
w/1 nut (M606-1R2, Hook Bolt Detail)

Turnbuckle End Assembly complete
w/Wedge (606-1R2, Detail "A")

Combination End Assembly complete
w/Wedge (606-1R2, Detail “B”)

5/8" Turnbuckle, 190mm take up, Shackle
End Complete, (M606-2R2)

(Cable End Assembly Detail)

U-Bolt, 3/8" Diameter. x 8" Long,
Threaded w/nuts & washers

(M606~17, Detail "B")

Plate Washer (M606-17, Detail "A")

Steel Turnbuckle Cable End Assembly,
Galv. (M606-2R2)

Spring Cable End Assembly, Galvanized,
(M606-2R2)

Brass "U" Rods (Staples), Smm |
{(M606-2R2)

Brass Anchor Rod, 5 mm,
41mm Long (M606-2R2)

Cable End Assembly (M606-2R2)

A325 Hex bolt, 1/2" x 1-3/4", w/ Nut
and 3 Flat Washers (M606-2R2)

206741.doc/PSGTeam 06/jem

Estimated

Quantity

80,000 L.F.

80,000
650

50

200
50
50

200

200

50

200

(continued)

Unit
Delivered
Price

s .78 nF

.53
44,2
Rl

62.°°

Total
Delivered
Price

s 62 Yo %

%2 400,%°
A5,.600,°°

(/44
5 e,

33‘;. o
35.*°
qjﬂ/ o0
2 950,°°

....__’1_.___

9 apy OO
S {5&

3%.%

Yp0.%¢
.y 00
/ 200,

;2.5’49,%"

& Accessories (Statewide)

PAGE 32

1ed)

Bidder
DIHIGHWAY SIGN & STR
POBOX 123
NEWYORK MILLS NY 13417.0193
Unit Total
Delivered Delivered
Price Price
. 5680 LF s 64,000
o0 foa _48006"
50
H9= G, 115"
O_Q w
JOQ STHSD
o 72 260 *
N0 ¢y
q g
WAL 550"
a5
b= 32/ 52
o0 ¢
13~ 5250 °°
A0 o0
) = DH0
)0
= 2207
. I‘Z Q O,_Q /35-6 )
50 JbO

Accessories (Statewide)

PAGE 32

Bidder

T?‘l‘nl!“{;ﬂ Hiﬂ "wdcﬂ proclws‘h,m

d)

Unit
Delivered
Pr_ice

- $ O To LF.

0,50
43,79

93'190

20'30

Total
Delivered
Price

(]9

60, 3C0,

28,105,

" Gu
H, (95,

(1Y



Group 32000 - Guide/Bridge Rails, End Sections, & Accessories (Statewide) - '

PAGE 33

PLEASE USE BLACK INK OR TYPEWRITER WHEN
PREPARING YOUR BID. BE SURE YOU HAVE
INSERTED YOUR COMPANY’S NAME IN THE BOX

=

Bidder

BEooarase,, Do,

8, & Accessories (Statewide)

PAGE 33

IYPE 1 - GUIDE RAILS, POSTS & ACCESSORIES
LOT I (Items #1-30) CABLE GUIDE RAILING: (Cont’d)

CLASS D - (Lot I - Items #2 - 14) (Cont’d)

Item
No. Description
14, Anchor Rod Assembly, 8-3/4" round
Rods, 18” long w/Galvanized Nuts and 6" x

14" x 1/4" Plate (M606-17 Anchor Rod Detail) 5

CLASSE - (Lot I - Items # 15 -30)

15. Concrete Anchor w/Anchor Angle-
Complete (M606-16R1, Detail "E")

16. Breakaway Anchor Angle Only
(M606-16R1, Detail "D")

17. End Post Cap w/Hardware (606-1R2)

18. Driveway End Post Cap w/ Hardware
(606-2R2)

19. Cable Splice, w/2 Wedges
{M606-1R2)

20. Delineator-Complete (M606-1R2, Alt. "B")

21. Delineator-Complete w/Rivets
(M606-1R2, Alt. "A™)

22. Wedge (M606-1R2, Detail "X")

23. Anchor Angle (M606-2R2)

24, Slip Impact Post (Base) (M606-2R2)
25. Slip Impact Post (Top) (M606-2R2)
26. Keeper Plate (M606-2R2)

27. Brass "U" Rods (Staples), Smm
(M606-2R2)

28. Brass Anchor Rod, Smm,
41mm Long (M606-2R2)

29, CONCRETE CABLE ANCHOR UNIT -
RIGHT HAND (COMPLETE) (M606-2R2)

20674i.doc/PSGTeam 06/jem

Estimated

Quantity

50

250

200

50

400

1,400

3,000
250
50

50

50

50

200

200

25

{continued)

Unit
Delivered
Price

é"ﬁ' oo

Z’é‘j‘l oo
é*a. oo
,g oc

' /yi o0

35: oo

L/tw
4

7. o0
, 95
65’. o0
50’ oo
é’ﬂl o0
2.7

/.7
ﬂ) go

Q0,77

Total
Delivered
Price

36”: o0

23 as0,°°

Lo o1 Adulli

/5. bog, °¢
13, bep,

3 4w %

Zé,ﬂ oo

5 b00,%°

. oL
/2 ceo.

237, s0
2 nep OO
3 25&9,0
. o
2,30,

I ) 00
3 400,

/3252
3 gﬂ' o0

Hpp,%

z 2 55}-7.« (074

wued)

Bidder

Trinity Highway PmJucﬁ ) e

Accessories (Statewide) PAGE 33
Bidder :
DI HIGHWAY SIGN & STR N
POBOX123 E
NEW YORK MILLS NY 13417-0123
)
Unit Total
Delivered Delivered
Price Price ed
¥
ga* 410
He 152 24 015"
52 28 /3 062 $9
- 31
/32 2,480
0 )
/035 575
70 )
L 39" /S b
3¢ S "
2% 4360
! )0 2 s e
n)°L 2550 "
S5~ 0 'm:
A1 %4 35
/ °2 50
0
] 7= )b
) 1> 2207
— 79
755 /& 85

~ Unit
Delivered
Price

55,70

y27,5°
g5, 14¢

Total
Delivered
Price

27g. 50




Group 32000 - Guide/Bridge Rails, End Sections, & Accessories (Statewide)

PAGE 34

ccessories (Statewide)

PAGE 34

‘PLEASE USE BLACK INK OR TYPEWRITER WHEN
PREPARING YOUR BID. BE SURE YOU HAVE
INSERTED YOUR COMPANY’S NAME IN THE BOX

Bidder

EL‘BEK LC‘.’:G: ) I'\)L ¢

TYPE 1 - GUIDE RAILS, POSTS & ACCESSORIES

LOT I (Items #1-30) CABLE GUIDE RAILING: (Cont’d)

CLASSE - (Lot1-Items #15 - 30)

Item Estimated
No. Description Quantity
30. CONCRETE CABLE ANCHOR UNIT -

LEFT HAND (COMPLETE) (M606-2R2) 25

GRAND TOTAL BID - LOT I [Items #1-30]:

" Manufacturer’s Name:
Manufacturer’s Plant Address:
Guaranteed Delivery:

TYPE 1 - GUIDE RAILS, POSTS & ACCESSORIES

LOT II (Xtems #31 - 76)
RECTANGULAR TUBING FOR RAILINGS AND
ACCESSORIES

CLASS A - (Lot II - Ttems #31 - 57)

Item Estimated
No. Description Quantity
31.  Hollow Structural Steel Tubes, 6" x 6" x_3/16" (M606-4)

a. 12' 40

b. 18 400

c.24' 400

d. 36" 100

e. 12’ Curved to 10’ (to 20") Radius 25

f. 18' Curved to 10’ (to 20") Radius 32

g. 24' Curved to 15' (to 20") Radius 20

h. 18' Curved to 20" (to 200") Radius 85

i. 18' Curved to 205' Radius 200

J- 24 Curved to 21 (to 200") Radius 20

k. 24" Curved to 205' Radius 30

1. 30’ Curved to 205' Radius 10

m. 36' Curved to 60° (to 200°) Radius 5

n. 36' Curved to 205' Radius 90

32.  Hollow Structural Steel Tubes, 6" x 8" x .250" (M606-4)

a 18 30
b. 24' 90
c. 36' 30
d. 24’ End Tube, Type A (Rail ONLY) 5
€. 24’ End Tube, Type B (Rail ONLY) 5

(continued)
20674i.doc/PSGTeam 06/jem

Unit Total

Delivered Delivered

Price Price

ﬁ & ] o0
W / ;g ﬁ ﬁ,

s 279 /35,25

ELDLRLE S TAC, |
OAKS (oS , NP 79578

45  Days A/IR/O
Unit Total
Delivered Delivered
Price Price

$_/36,%° S_ 5 Y9 %
fLﬂ’gqj 7,2 79, 200, 2

362/ L /g?’ém ©

307 i 20

760, 9@ ) e

35,77 WX A
boo, ©° A ad, e
234, P

A 18
? l”/

N
§\\
30

TR P0
272, e ? 00 [« <]
30, oo W
3 g[;/ 3 Z‘! ‘,25:%, [
Q¢ 5 o0 ) % &C
E L
323,70 £25. 00
525,7° 2 25, 00

s 276 274"

b.f \L{qkunq g«"q‘n « Shvucluvr e c\hrf*

Bidder

DIHIGHWAY SIGN & STR

POBOX123

NEW YORK MILLS NY 13417:0123
Unit Total
Delivered Delivered
Price Price

e >

75% /8875

HO Greenmad dve . yomiths o
20-YS  Days A/lR/IO’
Unit Total
Delivered Delivered
Price Price
$_/5H. &0 $ 6,)9.60
R 0570 8. ,
L7 00 iozz;go.oo
BT P 1 i
03:a0 00
55424 éd0 200
72760 LU0
2023 00 00
A0 {zs, g{zu,:}o
Z% ééo 2‘451.00
3:![63 3,&[3#”0
.i&l.xig ‘-’QGZOSD
9222.&0 24, 2 T
g3). S;g a0
ﬂg&o b 00
[;2.30~ZO )
ﬁl,‘f: 0 % ‘j2é-06
0.3 &0 ot Sy F 08

y 13417

¢ Accessories (Statewide) PAGE 34

[Trinity Highway Rodids, e

Bidder

ued)

Unit TotaI
Delivered Delivered
Price Price

10,770, °°
$ 2 b“" ) (30, o0
Trinity Highway Peduch,LLe
: 'T:.“‘ '"sh ivaed wﬁ'quo
30 H5  Days A/R/O ‘

430, ¥

Unit Total
Delivered Delivered
Price Price

s 187,9° 5 .50, °
213.3%0 ‘ 27,720,

. ) )
H23,30 12}2', 2330, ©
_390,'70 __ 9,767, 5°
20, (3, ¥

:




Group 32000 - Guide/Bridge Rails, End Sections, & Accessories (Statewide)

PAGE 35

PLEASE USE BLACK INK OR TYPEWRITER WHEN
PREPARING YOUR BID. BE SURE YOU HAVE
INSERTED YOUR COMPANY’S NAME IN THE BOX

e

Bidder

EwmeSRiee, T,

TYPE 1 - GUIDE RAILS, POSTS & ACCESSORIES

LOT II (Items #31-76)

RECTANGULAR TUBING FOR RAILINGS AND

ACCESSORIES:

CLASS A - (Lot II - Ttems #31 -57 ) (Cont’d):

Item
No. Description

33.  End Treatment (Rail ONLY) (M606-3)

34. End Treatment (Rail ONLY)
w/ Welded End Cap (M606-3)

35.  End Treatment (Rail ONLY) - Type II
(M606-3)

36.  End Treatment (Rail ONLY) — Type II
w/ Welded End Cap (M606-3)

37.  End Treatment (Rail (ONLY)
(M606-4, Type "A™)

38.  End Treatment (Rail ONLY)
(M606-4, Type "B")

39.  Transition Tube, 7' - 3" long

40.  Transition Tube, Joint Assembly
( Splice Bar)

41.  6"x 6”BB Wall Connector, 7° 11.75” long
(BD-RC6-R3)

42.  Splice Tube, Double Bend (BD-RI5R1)

43.  5”x5” Double Tube Wall Connector
(BD-RC6-R3)

44.  8"x 6" 1/4" Tube, 6" long (BD-RL4E)

45. 6"x6"x3/16"Boxx 15'11.5"
Bottom Transition Tube

©46. 6"x6"x3/16"Boxx23°7”
Bottom Transition Tube (BD-RS4 R3)

47.  6"x6”x3/16” Box x 24’ 10.25”
Bottom Transition Tube (BD-RC6-R3)

20674i.doc/PSGTeam 06/jem

Estimated
Quantity
50
250

50

250

25

15

10

15

10

100

200

20

10
(continued)

Unit
Delivered
Price

/30,%°
/@0 oo
/jj: o0
/5’ y o0

SR5.9¢

5"? ’t?a

ARS,%°
/RS, %°

/50,%°
70,°°

34,°°
/3,%¢

/96, %°

AR, %

300, o0&

Total
Delivered
Price

b se0, €°

32 sop,%°

ke’ Suathithll A

7. )50,%

39 2sv.

R 625.7°

A E6R5.7°

2 < O
S 625,

4875,

cessories (Statewide)

PAGE 35

Bidder
DIHIGHWAY SIGN & STR
POBOX123
NEW YORK MILLS NY 18417:0123
Unit Total
Delivered Delivered
Price Price
_123.50 G, /15,00
123.50 S0, 875" 00
[ o (p,00 ¢ 360.00
Ve 6, po ~J s’ab;M
503, Go 4,518 00
533,60 2, 518,00
205, 50 _5,/48.00
/0. 60 1, 53700
Jb3. 70 ), 6379.00
AN 38700
FHb-6d 3 ybo.00
!3, 00 / L0000
YA %), 08000
6 Q. 30 3023.08

:d)

. Accessories (Statewide)

PAGE 35

Bidder

Teinity Highuwey Pmolue(g LLe

Unit
Delivered
Price

154 S0

Total
Delivered
Price

7,925, %
9,925.%

' H49,625.%

- 2700.5°

2,498, 5°

50
b, L2,

1,903, 5°

. 2,586,

2, H‘IQOI o

4,699, “

2,176.%

0
HG, 920,



N

Group 32000 - Guide/Bridge Rails, End Sections, & Accessories (Statewide) PAGE 36

Accessories (Statewide)

PAGE 36

Accessories (Statewide)

PAGE 36

PLEASE USE BLACK INK OR TYPEWRITER WHEN Bidder
PREPARING YOUR BID. BE SURE YOU HAVE Bidder
IN NY’SN B — N _
SERTED YOUR COMPA AME IN THE BOX EunsS A ) I N C, DI HIGHWAY SIGN & STR
D DD D POBOX123
NEW YORK MILLS NY 19417-9123
TYPE 1 - GUIDE RAILS, POSTS & ACCESSORIES
LOT II (Items #31-76)
RECTANGULAR TUBING FOR RAILINGS AND
ACCESSORIES:
CLASS A - (1ot I - Items #31 - 57 )(Cont’d)
Unit Total
Ttem Estimated Delivered Delivered Unit Total
No. Description Quantity Price Price Delivered Delivered
Price Price
48. 6"x6"x3/16"Boxx 16' 7" 9
Top Transition Tube 200 R, “, 7‘7&’(’%, o8 2 3
7 2l .30 A3, 200,00
49. 6"x6"x3/16"Boxx22’11.5” Y
Top Transition Tube (BD-RS4 R3) 200 é 75,6 53 oev,
| A E2.20 Sb, 446,00
50. 6”x6”x3/16”Boxx25’5.75” )
Top Transition Tube (BD-RC6-R3) 10 320, 0 3 0.9 30 ‘
- T 9.00 o3 090,00
5. 6"6"x3/16"Boxx 9 20
Flare Tube (BD-RS4 R3) 200 122, 24 gep. ??
’ /)7 8B o3, $0.80
52.  Ungalvanized (Controlled Oxidation) Hollow
Structural Steel Tubes (Steel Alloy)
6" x 6" x 3/16" (M606-3) -, B0 -
a. 18 15 /bt [osf
b. 24’ 40 A9 « 70 o) ¥'7.3.50
c. 36' 5 325,90 D)l )0 00
d. 18' Curved to 25' (to 200) Radius 15 / ?’g G 25 30 2
e. 18" Curved to 205.25' Radius 5 /3¢ / 94, /0 % gé .00
f.24' Curved to 20’ (to 200°) Radius 5 275, °° e 7t S£3. 50
g. 24" Curved to 205' Radius 5 232, S 1, 2348.00
2 Pe 70 ly 139. .50
53.  Ungalvanized (Controlled Oxidation) ‘
Hollow Tubes 6” x 8 x 0.25” (M606-4) oD
a. 18’ long 5 30,
b. 24’ long 15 Zpp, 00 0. 90 [, 52, 50
BG4 90 5, 923+ 50D
54.  Ungalvanized (Controlled Oxidation) End
Assembly Type I (Rail ONLY) (Steel Alloy) Yy
w/Welded Cap (M606-3) 5 /i, ¢ 550,99 1)0. S0 55
— T ¢ ! 2, o0
55.  Ungalvanized (Controlled Oxidation) End
Assembly Type II (Rail ONLY) (Steel Alloy) o OO . o0
wiWelded Cap (M606-3) 5 /45, PR3, /5. 78 953
J20. /% ¢S50
(continued)

20674i.doc/PSGTeam 06/jem

d)

Bidder

Teinity Highuay Paduck, L1

Unit
Delivered
Price

2064, 3°

368, ¥°

M;“o
167, ?°
163, 49

249,50
324,30

Total
Delivered
Price

w
52,860,

wl, 760, ®

4, 064, ®

@
33,580,

2,526, %°
9,980, °°
I,szlggg
Mgﬂjgo

1,386,0
1, 27 5©

1,282, 5°
1499, 50

707.

7o/, 2%



Group 32000 - Guide/Bridge Rails, End Sections, & Accessories (Statewide)

PAGE 37

PLEASE USE BLACK INK OR TYPEWRITER WHEN
PREPARING YOUR BID. BE SURE YOU HAVE
INSERTED YOUR COMPANY’S NAME IN THE BOX

oD DD D= 2

Bidder

Eoverausg, TN,

TYPE 1 - GUIDE RAI.LS, POSTS & ACCESSORIES
LOT II (Items #31-76)
RECTANGULAR TUBING FOR RAILINGS AND
ACCESSORIES: (Cont’d)
Item Estimated
No. Description Quantity
56. Ungalvanized (Controlled Oxidation) End
Treatment (Rail ONLY) (Steel Alloy)
(M606-4, Type "A") 5
57.  Ungalvanized (Controlled Oxidation) End
Treatment (Rail ONLY) (Steel Alloy)
(M606-4, Type “B”) 5
CLASS D (Lot IJ - Ttem #58 )
58.  Galvanized Anchor Bolt, 3/4" x 24"
long (Steel Alloy) (M606-4) 5
CLASSE - (Lot II - Items #59 - 76)
59. Angle, 5" x3-1/2" x 3/8" x 4-1/2" long
w/3" x 7/16" slot (M606-3) 5,000
60. Angle, 5" x3-1/2" x 3/8" x 4-1/2" long
w/2" x 5/8" slot (M606-3, Type ) 2,000
61. End Cover Plate, Drive Fit
(M606-3,Sketch "D") 20
62.  Splice Plate w/tapped holes
(M606-4, Detail “A”) 700
64.  Splice Plate w/Tapped holes - Straight
(M606-3, Detail "B") 2,000
65. Splice Plate w/Tapped holes - Bent to 2° :
(M606-3, Detail "B"Y 200
66. Splice Plate w/Tapped holes - Bent to 4°
(M606-3, Detail "B") 200

20674i.doc/PSGTeam 06/jem

(continued)

Unit
Delivered
Price

Total
Delivered
Price

. o0
A, S50b:

- 20
2 50,

¢ Accessories (Statewide)

PAGE 37

Bidder

Trinty Highway Reducts, Lig

Unit
Delivered
Price

Hog, 1©

—_—

408, 10

3,79

)

Total
Delivered
Price

2, 044, 3

2,042, %

Accessories (Statewide)

PAGE 37

ued)

Bidder
DI HIGHWAY SIGN & STR
POBOX123
NEWYORK MILLS NY 134170123
Unit Total
Delivered Delivered
Price Price
HE, b _2,93800
48760 3, 43§00
/0 ,
6T 30
LBF0 e
5. 90 /], 50060
/3,606 _ 26600
3/0 75)/ MO 0
2.5 43, 908200
2315 4, 63000

A3 1S

“4, 6 30.00



Group 32000 - Guide/Bridge Rails, End Sections, & Accessories (Statewide)

PAGE 38

PLEASE USE BLACK INK OR TYPEWRITER WHEN
PREPARING YOUR BID. BE SURE YOU HAVE
INSERTED YOUR COMPANY’S NAME IN THE BOX

-

¢ Accessories (Statewide)

PAGE 38

Accessories (Statewide) PAGE 38

Bidder

B eeERuSE, YN0,

TYPE 1 - GUIDE RAILS, POSTS & ACCESSORIES

LOT II (Items #29 - 76)
RECTANGULAR TUBING FOR RAILINGS AND

ACCESSORIES:

CLASSE - (Lot II - Items #59 -76 ) (Cont’d)

Item
No.

67.

68.
69.

70.

71.

72.

73.

74.

75.

76.

Description

Splice Plate w/Tapped holes - Bent to 6°
(M606-3, Detail "B")

Rail Support Plate (M606-4)
Cover Plate (M606-4, Detail "C")

37”x 5”x 1/4” Kickback Rail for
3 or 4 Rail Transitions (BD-RS4-R3)

Ungalvanized. (Controlled Oxidation)
Angles, 57 x 3-1/2” x 3/8” x

4-1/2” long w/3” x 7/16” Slot

(Steel Alloy) (M606-3)

Ungalvanized (Controlled Oxidation)
Angles, 5" x 3-1/2" x 3/8" x 4-1/2"
Long w/2" x 5/8" Slot (Steel Alloy)
(M606-3)

Ungatvanized (Controlled Oxidation) End
Cover Plate - Drive Fit (Steel Alloy)
(M606-3, Sketch "D")

Galvanized Splice Plate w/Nuts
(Steel Alloy) (M606-4, Detail "B")

Ungalvanized. (Controlled Oxidation) Rail
Support Plate (Steel Alloy) (M606-4)

Ungalvanized. (Controlled Oxidation) Cover
Plate (Steel Alloy) (M606-4, Detail "C")

GRAND TOTAL BID - LOT II [Items #31 - 76]:

Manufacturer’s Name;
Manufacturer’s Plant Address:
Guaranteed Delivery:

20674i.doc/PSGTeam 06/jem

Estimated

Quantity

200
4,000

75

1,600

5

(continued)

Unit Total
Delivered ' Delivered
Price Price
: oo &) Uny €O
22, 4 Yoo,
4,% 6 cop. ©°
25,99 1825.%°
) 70,99 $so. ¢
> SO o0
80 o0
3. A5,
p?ﬂ, o0 ; W o0
& 60
Ss. 5o, °°
20,% joo, %

$ if.fl' £, 50
£’U)a?zzz TAC,

Ps MFZ /515
f'z Days A/R/

Bidder

Teinty Highuay Reduck, Lic

Unit
Delivered
Price

55,50

[p,'b
HY,90

171, ¥
2,

2.7°

)7, 9°

(o0, 2°
;_)l.SO

21, 89

- Total
Delivered
Price

1,100, %

24,400, %
3,367, °°

59,

97.3°

302, 9°

7
7,200,

1091 ol

| s 081,572, 30
T;‘lwﬁqu‘)mq Rn&{ué*s, Lie

1ued)

u7o N\sd-gg Sﬁ ) Girarnd, Ohip Y4425

30 b HS  Days A/R/O

Bidder
DI HIGHWAY SIGN & STR
POBOX 123
NEW YORK MILLS NY 13417-0123
Unit Total
Delivered Delivered
Price Price
ABe 5 63000
eso 200:00
_ /00 ___7¢0,00
4.5y __M2.L0
ﬂ m 0
8 il
/750 __J7se
_bb. 90 7.5
S 6,320
AL /0.0
‘?Q 3 98, 28
\% ‘\-\‘“\\\WVH gt Shpu cfure

eev\m% = N

Days A/R/O

/u/,)/.leL y

e

3y



Group 32000 - Guide/Bridge Rails, End Sections, & Accessories (Statewide) -

PAGE 39

20674i.doc/PSGTeam 06/jem

"PLEASE USE BLACK INK OR TYPEWRITER WHEN Bidder
PREPARING YOUR BID. BE SURE YOU HAVE
INSERTED YOUR COMPANY’S NAME IN THE BOX E—L_DER-»LEL‘Z ) ‘ S N
=D D D D D
TYPE 1 - GUIDE RAILS, POSTS & ACCESSORIES
LOT HI (Items #77 - 109)
CORRUGATED BEAM TYPE GUARD RAILING AND
MALL BARRIER WITH BOLTS
CLASS A - (Lot ITI - Items #77 - 79)
Unit Total

Item Estimated Delivered Delivered
No. Description Quantity Price Price
77.  WI150 x 12.6 x 1830mm Standard Post _ ’ &

(M606-8R3) 100 $.3/, d s 3 /75.°
78. W150x12.6x 2135mm X

e

X-Long Post w/Spade (M606-8R3) 100 55.° S svo.%C

79. WI150x12.6 x2135mm
%

X-Long Post without Spade (M606-8R3) 100 fz 2, i f’i 200, v
CLASS B - (Lot III - Items #80 - 91)
80.  Galvanized Intermediate Rails, 13' 6-1/2"

(M606-6, Details “B” and "G") 10,000 SR, 520 pc0, P
81.  Galvanized Intermediate Rails

Same as Item #61, EXCEPT rails are

to be bent to a 10' (to 15') Radius 00 ,

(M606-6, Details “B” and "G") 120 70, S vp, °
82.  Galvanized Intermediate Rails

Same as Item #61, EXCEPT rails are

to be bent to a 20' (to 220") Radius ' O

(M606-6, Details “B” and "G") 615 45, Y/ 820,
83.  Terminal Rail, w/10 (1" diameter) holes s 0O . o0

(M606-6 and M606-7) 400 £1° A5 oo,
84.  Driveway Terminal Rail, w/10 (1" diameter) , Py L 00

holes (M606-6 and M606-7, Detail "C") 150 26, /) 402,

. o . a0

85.  Terminal Section (M606-7, Detail "N") 600 Al,° /2 ba.
86.  Ungalvanized (Controlled Oxidation)

Intermediate Rails, 13' 6-1/2" :

(Steel Alloy) (M606-6 and : 00 . o0

M606-7, Detail "B" and "G") 750 49, 3¢ pse.

(continued)

Accessories (Statewide)

PAGE 39

Accessories (Statewide)

PAGE 39

Bidder

Triny Highuay Poduch, Lt

1ed)

Unit
Delivered
Price

$ 3Q15D
5/.80
37, ¢

H9, 2°

[05’. 50

Total
Delivered
Price .

s 3,050, ® |

5,180, %
évwxw

Bidder

6;‘5301\/ /J'})A i) Prodvers

)

Unit
Delivered
Price

s 39,50
H5.0D
S

H7.v0

$H,50

SH. 50
$J.00
66. 35
[2:50

41,35

Total v
Delivered
Price

$ 2950, oD
Y500, vp

34945, 0D
H70,000. vo

6 540,00



PAGE 40

Group 32000 - Guide/Bridge Rails, End Sections, & Accessories (StateWide) PAGE 40 cessories (Statewide)

Accessories (Statewide) PAGE 40
PLEASE USE BLACK INK OR TYPEWRITER WHEN Bidder ' ' Bidder
PREPARING YOUR BID. BE SURE YQU HAVE T Bidder _
INSERTED YOUR COMPANY’S NAME IN THE BOX R e T I NN | N C, - “ C l‘ }1
D DD DD TVW\“E H‘j L“A)w p\"Oc‘M d"Sl'U\-c f‘e?ar\/ / ,3 way P[\UJWK
TYPE 1 - GUIDE RAILS, POSTS & ACCESSORIES
LOT III: (Items #77 - 109)
CORRUGATED BEAM TYPE GUARD RAILING AND
MALL BARRIER WITH BOLTS
CLASS B - (Lot ITI - Items #80 - 91) (Cont’d) _
Unit Total ) : Unit Total
Item Estimated Delivered Delivered Umj[ Total Delivered Delivered
No. Description Quantity Price Price Dghvered Delivered Price Price
87.  Ungalvanized (Controlled Oxidation) Price Price
Intermediate Rails, 13’ 6-1/2"(Steel Alloy)
Same as Item #71, except rail
is bent to a 15' (to 45') Radius o L ' . ; .
(M606-6 and M606-7, Detail "B" and "G") 95 £2.% ' §90,°° 57,30 5143, 5° 49,45 Y , 6H0.75
88.  Ungalvanized (Controlled Oxidation)
Terminal Rail, w/10 (1" diameter)
Holes (Steel Alloy) (M606-6 and - , .
M606-7) 10 60.%° bep. ? 5(,20 543, @ HE.35 Y63.50
89.  Ungalvanized (Controlled Oxidation) Driveway
Terminal Rail, w/10 (1"Diameter) Holes 00 ) oo
(Steel Alloy) (M606-6 and M606-7) 5 /6, 3. lolo, 3 334/, ov 60.70 303,50
90.  Ungalvanized (Controlled Oxidation) Terminal 0 Y. '
Section (Steel Alloy) (M606-7, Detail "N") 5 /9% 9 ) 7, R0 56, 90 1).50 _6).50
91.  Thrie Beam Rail, 13' - 6-1/2" Straight 10 so X o0 v g gO L/S~ 072,
5. G50, 90, QO 90, ¥ 84,50 _848.¢
CLASS D - (Lot III - Items #92 - 106 )
92.  Anchor Rod Assembly, 8-3/4" Diameter. Rods ) : q
18" Long w/Galvanized Nuts and 3" x 27" x 1/4" ) . ; _ 9] 4 U0, 0D
Plate (M606-6 & M606-7, Detail "A") 150 4%, % 2200, ¢ H1.2° lo, 2257, 90 Lo.vo LA AL
93.  Splice Bolt w/nut (M606-6 and : 50 _ 3 €7$2.0D
M606-7, Detail "E") 75,000 b0 Ys o0, 9° O 37 500, © -_17'?_ AR
94.  Splice Bolt w/o nut (M606-6 & , , 80 20 30 Y
M606-7, Detail "F") 600 ' 3 0 / 5; 2, O 120, @ '—3-- —g—'UO
95.  PostBolt, 5/16” x 1-1/2” w/nut & ‘-’0 W {f‘ Ié
Sq. Washer 4000# min. strength 20 i ‘ ‘ SUD .00
(M606-6 & M606-7 Detail "J") 30,000 SO /5 bod, 0. )2, O(X)'a) —/JT_ _’;——_
, 9, OO 0 L. 45 .00
96.  Post Bolt, 5/8" x 10" w/Nut (M606-8R3) 300 /72 720, 1y R0 360, —‘—i
. d)
(continued) -

20674i.doc/PSGTeam 06/jem



Group 32000 - Guide/Bridge Rails, End Sections, & Accessories (StateWi_de)

PAGE 41

PLEASE USE BLACK INK OR TYPEWRITER WHEN
PREPARING YOUR BID. BE SURE YOU HAVE
INSERTED YOUR COMPANY’S NAME IN THE BOX

=D DD

\ccessories (Statewide)

PAGE 41

ccessories (Statewide)

PAGE 41

Bidder

SR S IATRE = Ol o,

TYPE 1 - GUIDE RAILS, POSTS & ACCESSORIES
At A ASAZ LI [V AP SN ¥ Lo )

LOT 1I: (Items #77 - 109)

CORRUGATED BEAM TYPE GUARD RAILING AND

MALL BARRIER WITH BOLTS
CLASS D - (Yot III - Items #92 - 106)(Cont

Item

No. Description

97. 5/8”X 2” Splice Bolt w/Nut
(M606-6 and 606-7, Detail "F")

98.
5/8“ X 18” Splice Bolt w/Nut
(M606-6)

99.  5/8” X 25”Splice Bolt w/Nut
(M606-6)

100. 5/16” X 1-1/2” Post Bolt w/Nut
(No Washer)(M606-6 )

101.  44mm Square Washer
(M606-6, Detail "M™")

102. % X 2” A-325 Hex Bolt, w/Nut and 3 Washers

(M606-2R2)

103.  75mm X 45mm Rectangular Guide Rail Plate Washer

(M606-43)

104. Ungalvanized (Controlled Oxidation)
Splice Bolt w/Nut (Steel Alloy)
(M606-6 and 606-7, Detail "F )

105. M16 x 2.0 Guide Rail Bolt,
255mm long, threaded 100 mm,
w/nut and washer (M606-8R3)

106. King Block (alternative to Wood)
(M606-8R3)

CLASS E- (Lot III - Items #107 - 108)

107. Concrete Anchor (M606-6, Detail "A")

108. Driveway Mall Barrier Anchor (M606-7
Detail "A™)

20674i.doc/PSGTeam 06/jem

,d)

E

Estimated
uanti

2,000

200

200

1,000

1,000

1,000

500

20,000

1,000

100

(continued)

Unit
Delivered
Price

Py

, 690

Total
Delivered
Price

[ 200, © e
399, 9°
720, °°
300, ®

(A5, ®

Bidder

Trinity Hig [\mj Foduchs, Lied

Unit
Delivered
Price

_o,4°
), 70
2, *°

.O,iu
0. e°

G0

0.

),5°

ed)

Total
Delivered
Price

S0, ©

Bidder

Gregory Highuom Proslucsy

Unit
Delivered
Price

64

[.70
J.HO

31
.29

[.oD
.36

.69

YY)
3,95

HoVO ., 0
Yoo 0p

Total
Delivered
Price

(380.0D

_ 3400
__Hg0,00
__3/0.0D
_Jd90.0v

(000 6D
(90 .0D



Group 32000 - Guide/Bridge Rails, End Sections, & Accessories (StateWide) v PAGE 42

PLEASE USE BLACK INK OR TYPEWRITER WHEN
PREPARING YOUR BID. BE SURE YOU HAVE
INSERTED YOUR COMPANY’S NAME IN THE BOX

oD DD D=

Bidder

Gf"’y’ﬁ/ [.L‘% W‘:) @mz}wyj

TYPE 1 - GUIDE RAILS. POSTS & ACCESSORIES
LOT II: (Items #77 - 109)

CORRUGATED BEAM TYPE GUARD RAILING AND
MALL BARRIER WITH BOLTS

CLASS F - (Lot III - Item #109)

Item . Estimated
No. Description uanti

109. Wood Offset Block (M606-8R3) 100_-

GRAND TOTAL BID - LOT III [Items #77-109]:
“ Manufacturer’s Name:

Manufacturer’s Plant Address:

Guaranteed Delivery:

TYPE 1 - GUIDE RAILS, POSTS & ACCESSORIES
LOT IV (Items #110 - 133) POSTS
CLASS A - (Lot TV - Ttems #110 - 133

Item Estimated
No. Description uanti
110. Universal Posts (M606-6) 15,600
111. Universal Posts without 1/4" x
8" x 24" Plate (M606-6) - 3,750
112. 3" Webx 5.7 Ibs./ft. Post with 7/8" /
Round Hole in Web 2" from stub end
(4" end) (M606-4, Type B End Post) 60
113. 6 x 9 Posts, 6' Long w/Spade (M606, 100
114. S75x8 Transition Post 2.135
w/800mm Spade (BD- 40
115. Box Beam Mall Barrier Post
- (M606-4) 725
116. Box Béam Mall Barrier Post w/o
x 8" x 24" Plate (M606-4) 600
Corrugated Beam Mall Barrier
Post (M606-7) 800
(continued)

20674i.doc/PSGTeam 06/jem

Unit Total
Delivered Delivered
Price Price
Siov _Sv0. v
s £93,37).75

Gf"wﬁ/ I;Ls[dwm Prodsers
Yio 13 ST Ylomvim & i+ vunp

30-90  Days A/R/O

Unit _ Total
- Delivered elivered
Price Price

\ccessories (Statewide) PAGE 42

Bidder

ElnErEGE | Yo,

Unit Total
Delivered Delivered
Price Price
é’i oo ; 52 0, o0 -
oo
s 729,290,

ENsRls e TNC
CAKS CoRpne2S , \LF /9515

Days A/R/O ~
Unit Total
Delivered Delivered
Price Price
s 297° s 964,100, °°
£s gy SO
_33,% #4932
31.3° [ 98/, %
95,7 Y 559,
i - 4
20 3, £PC
93 1 )z,

265 /9 22,72

2% /2 752, °°
31,% 25 5w, %

:cessories (Statewide) " PAGE 42

Bidder

FMHB Hlﬂ 'nwtzﬂ Pmo'ud%) SN

Unit Total
Delivered Delivered
Price Price

5,05 _505,%*

s 713, "720,50

Teinity an‘waq =N
LH76NSEIe ShGicerd, Ghi LI"/‘IZO
30+t H5 Days AIR/O

$£Q-ﬂ> | ,$?lj§§ool @
22.%° 95,500,

247 494 @

5L 5060,%
28,”° 20,517
)§, HO.
31,7 25,560, ®




Group 32000 - Guide/Bridge Rails, End Sections, & Accessories (Statewide) PAGE 43

% Accessories (Statewide) - PAGE 43
PLEASE USE BLACK INK OR TYPEWRITER WHEN Bidder -
PREPARING YOUR BID. BE SURE YOU HAVE T Bidder .
INSERTED YOUR COMPANY’S NAME IN THE BOX ELyne il NG . . :

LRSS E ‘ ‘ . g, Lic]
o= o o ) . [vini Hlﬂkw_oﬂ Pmcluc‘?i',
TYPE 1 - GUIDE RAILS, POSTS & ACCESSORIES
LOT IV (Items #110 - 133) POSTS
CLASS A - (Lot IV - Items #110 - 133) .

. Um? : TOt?I Unit Total
Item . Estlmgted Dghvered Dt?hvered : Delivered Delivered
No. Description Quantity Price Price : Price Price
118.  3"I-Beam End Post for Type I Box o0 00
Beam (M606-3) 5 A2, | /35. 24,3° )22, 57
119. 3" I-Beam End Post for Type II Box ; 725 ‘ a 25 '
Beam (M606-3) 5 A, /3 2 36 |24, %
120.  Ungalvanized (Controlled Oxidation) :
Intermediate Posts (Steel Alloy) 24 SO 2] 47 o0 ) ~70 o
(M606-6) 2,290 324, 77 425 30, 70, 303,
121. Ungalvanized (Controlled Oxidation) L/()
Intermediate Posts w/o 1/4" x 8" g s ' o0
92 S0 » o
x 24" Plate (Steel Alloy) (M606-6) 600 _A3°7 _/_,7_12/_ e _ll__ lQ/ﬂ_ ‘
122. Ungalvanized (Controlled Oxidation) 30 » . 0
Box Beam Mall Barrier Post A0 30 s op Z 3 b 10
(Steel Alloy) (M606-4) 700 27 0 7724, AOi 14310,
o T —f
123.  Ungalvanized (Controlled Oxidation)
Box Beam Barrier Post w/o 1/4" ' ol a)
x 8" x 24" Plate (Steel Alloy) o0 > o OO0
(M606-4) 450 AA. 7 940 R3” )0, 350.
124.  Ungalvanized (Controlled Oxidation) ~6 ou
Corr. Beam Mall Barrier Post o0 o O - . 7
(M606-7) 250 39, S0, ¢ _30. " , 1,675,
125.  Ungalvanized (Controlled Oxidation) : 2
3” I-Beam End Post for Type I ' "~ OO o0 S 3 Y
Box Beam (M606-3) 10 YA 'y | 22,7 238,
126.  Ungalvanized (Controlled Oxidation) 90 o0
3” I-Beam End Post for Type II ) 017, & 23 P 3
Box Beam (M606-3) 10 25, 255, o= 239,
nued)
(continued) .

20674i.doc/PSGTeam 06/jem



Group 32000 - Guide/Bridge Rails, End Sections, & Accessories (Statewide) PAGE 44

Accessories (Statewide) PAGE 44

PLEASE USE BLACK INK OR TYPEWRITER WHEN

PREPARING YOUR BID.

BE SURE YOU HAVE

INSERTED YOUR COMPANY’S NAME IN THE BOX
-

Bidder

BlneErces, Iax,

TYPE 1 - GUIDE RAILS, POSTS & ACCESSORIES

LOTIYV (Items #110 - 133) POSTS:

' CLASS A - (Lot IV - Items #110 - 133): (Cont*d)

Bidder

Tein 'r&’ Hiq hw(:\j Ewlug. z, LLC

Unit Total .
. . Unit Total
Item o Estlma}ted Dg:hvered Dc?livered D::lllivered Dce):l?vered
No. Descrlpthn o Quantity Price Price Price Price
127. Ungalvanized (Controlled Oxidation)
W150 x 26 Heavy Post: 2.14 Meter S0 ’ Q
wiSpade (BD-RL4) 40 59, 239, “° &, 50 2,180,
128. Ungalvanized. (Controlled Oxidation)
S75 x 8 Transition Post: 2.135 Meter i 00 s OO o
w/800 mm Spade (BD-RL4) 40 44, 4768, Hi. 40 (50,
129, W150 x 26 Transition Post: 2.14 Meters SO ) 00
w/Spade (BD-RL4) Heavy Post 20 53, 270, 5 8 ) fo. (S 0
130.  Ungalvanized (Controlled Oxidation) 0
Extra Long Post (7°) - Cable S0 . 00 yo '
(M606- 1R2) 1000 %P, 9P sce, Hl. ‘:”, Hoo,
131. Galvanized Extra Long Post (7°)- Cable oo . ) 30 , o0
(M606-1R2) 1000 38, 38 aw: _38,~°Y 38,300,
132. Ungalvanized (Controlled Oxidation) A ' L,l 6 p
Extra Long Post (7’) - Beam R g _ 20
(M606-3) 1000 4p,° 4P b, HL 7T [, 400,
133.  Galvanized Extra Long Post (7°) - Beam NG 60 s 4o ' ' o0
(M606-3) 1000 3. 3% oo, %° 38,7 33,460,

s_747,557 %
Trinity Hiqhway Roduchs, LLc

livo&.me%ﬁ.: Giard, CGhio 44420
.39"'5'_'[5 Days A/R/O

s__ 903 799,25
ELDsRLeE Thoc .
CAKS fo0ids A7 74515
Days A/R/O 7

GRAND TOTAL BID - LOT IV [Items #110 -133]:

Manufacturer’s Name:
Manufacturer’s Plant Address:
Guaranteed Delivery:

ed)
(continued) ‘ -
20674i.doc/PSGTeam 06/jem



Group 32000 - Guide/Bridge Rails, End Sections, & Accessories (Statewide) PAGE 45 & Accessories (Statewide) PAGE 45

PLEASE USE BLACK INK OR TYPEWRITER WHEN
PREPARING YOUR BID. BE SURE YOU HAVE
INSERTED YOUR COMPANY’S NAME IN THE BOX

e

Bidder

&wﬁMame7Mw3

TYPE 1 - GUIDE RAILS, POSTS & ACCESSORIES
LOT V (Items #134-164)

HEX BOLTS, NUTS, WASHERS
CLASS D - (Lot V - Items #134 - 164)

Item Estimated
No. ltem uanti
HEX BOLTS
134, 3/8" Diameter 7-1/2" long (M606-3) 7,000
135. 3/8" Diameter 10.8" long (M606-3) 8,000
136. 1/2" Diameter 1-1/2" long (M606-3
and M606-6) 16,000
137. 1/2" biameter 7-1/2" long (M606-15R1) 5

138. 3/4" Diameter 1-1/2" long (M606-3, A325) 15,000

139, 3/4" Diameter 1-1/2" long,
(M606-4, A307) 5,000

140. 3/4" Diameter 2" long, ASTM A325-02

(M606-3 and M606-4) 5,000
141. 3/4” Diameter 4- 1/2” long, ASTM-A307

(M606-6) 100
142.  3/4" Diameter 8" long, (M606-3, A307) 250
143, 3/4” Diameter 7” long, Carriage

(BD-RS5-R4) 100

144. 3/4" Diameter 11-1/2" long, (M606-4) 5

HEX NUTS - |
145.  5/16" Diameter (A307) 5,000
146.  3/8" Diameter (A307) 32,000
147.  1/2" Diameter (A307) 16,000
148.  5/8" Diameter (A307) 4,000
149.  3/4" Diameter (A307) 5,000
150.  3/4" Diameter (A325) 2,500

(continued)

20674i.doc/PSGTeam 06/jem

Unit
Delivered
Price

$0.9375”
/.296

0./963
/.8375
0.8217

0.5785
0.7835

1.815
2.7/

.49
3.32278

00377
0.053¢
0.1568
02363
0.3855
0994

Total
Delivered
Price

$ 0O56R,50

/0348
3,19/./4
719 .

/2 325,53

2892 43

/7.

/81 50
7R 7. 50

249
[/

/88. 50

17/5. 20
608,50

P45, 20
492250
£ 236.40

Bidder

ELDERARSE | Toc.

Unit Total

Delivered Delivered
Price Price
s__, 70 s_ g0

,35) 7 Z!Zi o0
__3.00 5.°°

//ﬂj 5, A50,°°
/.ij /jﬂl oe
2,25 6%2,3°
.70 A,°°
S,00 A3, %

/7 2. 70,2
A2 957.9¢
‘ fﬂ 21 200, o




AUG-06-2007 03:37PM FROM- v T-002 P.017/058 F=-58S
~ Group 32000 - Guide/Bridge Rails, End Sections, & Accessories (Statewide) PAGE 45

PLEASE USE BLACK INK OR TYPEWRITER WHEN Bidder
PREPARING YOUR BID. BE SURE YOU HAVE ¥$;ega"5 Fastener Supply
'INSERTED YOUR COMPANY’S NAME IN THE BOX < utternut Street
= D> > > yracuse, NY 13208
(:115) 424=2525

TYPE_1 - GUIDE_RAILS, POSTS & ACCESSORIES
LOT V (ltems £134-164)
HEX BOLTS, NUTS, WASHERS
CLASSD - (Lot V - Items #134 - 164)
Unit . Total
Item Estimated Delivered Delivered
No. Irem _ Quantity Price Price
HEX BOLTS i
134, 3/8" Diameter 7-1/2" long (M606-3) 7,000 s 13 s 51D, 0>
I '
135.  3/8" Diameter 1}@ long (M606-3) 8,000 2 q§ /0, PC
136, 1/2" Diameter 1-1/2" long (M606-3 0O
and M606-6) 16,000 24 38Ho.
137. 172" Diameter 7-1/2" long (M606-15R1) 5 , s 40 . ~1.00
Yo'
138.  3/4" Diameter [-1/2" long (M606-3, A325) 15,000 ’ 84 _ [2(:60.
139, 374" Diameter 1-1/2" long, '
(M606-4, A307) . 5,000 , (A 3i00.°C
140.  3/4" Diameter 2" long, ASTM A325-02 e
(M606-3 and M606-4) 5,000 3 Ui So.
141, 3/4” Diameter 4- 1/2” long, ASTM-A307
(M606-6) ; 100 |.HS s, 20O
A . —
142, 3/4" Diameter 8" long, (M606-3, A307) 250 7. D (SD.°
143.  3/4" Diameter 7~ long, Carmriage ' o
DRSS RY o | 288 _28%.°
144, 3/4" Diameter 11-1/2" long, (M606-4) 5 3 ; 43 . 7. 9
HEXNUTS |
145, S/16" Diameter (A307) 5,000 . 0% oo .00
146.  3/8" Diameter (A307) 32,000 .09 2AES0. ov
147. 12" Diameter (A307) 16,000 -1 $gb .0
148.  5/8" Diameter (A307) 4,000 e 3 | 40 .o°
. , o
149.  3/4" Diameter (A307) 5,000 , 43 RANSD.
150.  3/4" Diameter (A325) 2,500 s 70 15D, %P

(continued) _
20674i.doc/PSGTeam 06/jem

08/06/07 MON 16:07 [TX/RX NO 60491 [do17



T-002 P.018/058 F-585

. : ceessories (Statewide) PAGE 46
Group 32000 - Guide/Bridge Rails, End Sections, & Accessories (Sta'tewide) PAGE 46 cessories (Statewide) | PAGE 46
Bidder \otorans Fastener Supply
PLEASE USE BLACK INK OR TYPEWRITER WHEN Bidder . Bidder 117 Butternut Street
PREPARING YOUR BID. BE SURE YOU HAVE [: 71 / CO AL - ] Syracuse, NY 13208
INSERTED YOUR COMPANY’S NAME IN THE BOX a8srena m/ I:S BT s < : Tioc ; (315) 424-2528

= — Y
IYPE 1 - GUIDE RAILS, POSTS & ACCESSORIES -
LOT V: HEX BOLTS, NUTS, WASHERS : Unit Total
CLASS D - (Lot V - Items #134 - 164) (Cont’d) Unit Total Delivered - Delivered
, . Um?: TOt?I Delivered Delivered Price Frice
Ttem Estimated Delivered Delivered Price Pri oD
No. Description Quantity Price Price I ~lice §S « OLP $ 24,
FLAT WASHERS o 00 <Y Bk M
151.  5/16" Diameter (A307) 400 $s0.0483 $ /932 s_107 52577 ,05 %00.°0
: 9y OO AEE—
152.  3/8" Diameter (A307) 16,000 0.0b08 972 80 07 /7 , i [2L0.52
- Sn OO0 _— -
153.  1/2" Diameter (A307) 9,000 0./447 Z’, 302.30 Al _I »AS 150,59
,_ o0 —= I
154.  5/8" Diameter (A307) 3,000 0,.2652 795 40 —do —%‘? LYo Uooo 0P
)y O _ E—
155.  3/4" Diameter (A307) 10,000 0,4025 ﬁ', 025 30 *3,—%)—"’— L H3 ASt ., oL
. . éz) et T ———
156.  3/4" Diameter (A325) 5,000 0./1249 L24. L4 : 20 Yo, * | 160.0°
, ~ g 20 —t =1
157.  3/4" Diameter F436M Wide 15,000 0. 2640 5, 960.00 0 —é;&
HEX BOLTS UNGALVANIZED (CONTROLLED qg 125,00
OXIDATION) As per drawings M606-3 & M606-4 _ : oo _— _—
158.  3/4" Diameter 1-12" long 300 0.405/ JR).E4 a .70 _ A
, = : Yo X8
159. 3/4" Diameter 1-1/2" long 7‘7 3 M o0 l'—lg‘-_ M—
(ASTM A325-02) 4,000 0.9023 3,849.08 . ——7"“*—‘—“) . 9D 225500
160.  3/4"Diameter 2" long (ASTM A325-02) 2,000 /. /523 2.304.4] —/Q —% 2,i% ) 15 7S
. y H .
161.  3/4" Diameter 8" long 5 3.0L068 /5,33 435 24,
HEX NUTS UNGALVANIZED (CONTROLLED o
OXIDATION) As per drawings M606-3 & M606-4 b7, /S0 oo & _5_L‘.°__
162.  3/4" Diameter 300. 0.4471 /34./3 4 — =
FLAT WASHERS GALVANIZED .
per drawings M606-3 & M606-4 , 07 3 S0 . 30 1S.°%
163.  5/16" Diameter 50 0.0483 2492 : "
ELAT WASHERS UNGALVANIZED (CONTROLLED { 4so. o0
OXIDATION) As per drawings M606-3 & M606-4 . SO Sw, °° J Y .
164.  3/4" Diameter 1,000 0,27 276 = L/ - G
) o ) % [}
GRAND TOTAL BID - LOT V [Items #134-164]: s 0730865 s_7 Sf 735.75 '
Rock? ¢ ELDiRLEE _Fwc 1 MAACLS
Manufacturer’s Name: OO‘ (o) olt ¥ l OA7C S @ P £ - Zigss S : YorouwsS
Manufacturer’s Plant Address: 1 St TL-Llio) 2 - AT , 0= 3n-Y% Days A/R/O
Guaranteed Delivery: 10  DaysARO Days A/R/O . 20 - s
(continued) wed) -

20674i.doc/PSGTeam 06/jem

08/06/07 MON 16:07 [TX/RX NO 60491 [fo1s



Group 32000 - Guide/Bridge Rails, End Sections, & Accessories (Statewide) :

PAGE 47

PLEASE USE BLACK INK OR TYPEWRITER WHEN Bidder
PREPARING YOUR BID. BE SURE YOU HAVE —_—
PANY’S NAME IN THE BOX o~ — .
INSERTED YOUR COM E\_\B (AT WREACHR \ &\.J\J <,
=D DD D =
TYPE 2 - BRIDGE RAIL, POSTS AND ACCESSORIES:
LOT VI (Items #165 - 197)
COMPONENTS FOR BRIDGE RAILING SYSTEMS,
CONFORMING TO LATEST FEDERAL 350 STANDARDS
(AS PER DRAWINGS BD-RS1R3 THROUGH BD-RS8R3)
CLASS A - (Lot VI - Items #165- 182 ) .
Unit Total
Item Estimated Delivered Delivered
No. Description Quantity Price Price
165. Two(2) Rail Post complete w/Base o0 g . OO
(BD-RS1 R3) 100 s /Y, s_L8, -
166. Four (4) Rail Post (Curbless) w/Base o0 Y o
(BD-RS2R3) . 100 /53 /8 30, ®
167. Five (5) Rail Post (Curbless) w/Base 00 ' o0
(BD-RS3 R4) 100 o2/ Sy A s
168. Three (3) Rail Post (Curbless) w/Base , o0 s s man OO
(BD-RS1-R3) 100 /52, /5 228
169. Two (2) Rail Post (Curbless) w/Base Plate
Low Volume Bridges (BD-RL-3) 20

170. 152 x 152 x 4.8 mm Galvanized Box Beam,
Rail tubes, 30’ lengths
(Note: Other lengths available on
equivalent pro-rated basis) 100

171.  Expansion Splice Tube, Galvanized. 127 x
127 x 7.9mm, 900mm long, w/22mm dia.
Holes (BD-RS8 R3) 200

172.  Expansion Splice Tube, Galvanized.
127 x 127 x 7.9mm, 876mm long
(BD-RL-4) Splice Tube A 50

173.  Expansion Splice Bar, Galvanized. 100 x 56 x
900mm w/22mm dia. Holes. (BD-RS8 R3) 200

174.  Fixed Splice Tube, Galvanized. 127 x 127 x
7.9mm, 685mm long w/22mm holes.
(BD-RS8 R3) 200

175.  Expansion Splice Tube , Galvanized.
127 x 127 x 7.9mm, 876 mm long
(BD-RL-5) Splice Tube B 50

(continued)

20674i.doc/PSGTeam 06/jem

e 20 2 w V-l
Zi d =
‘ @ C

2,
‘Z‘/[/",m
93.%¢ /S b, %

73 652, °°
/ sz o¢ Z 7 éﬂﬂ, o0
3,

N

g /6 82, %

. ‘9()

/ fz /%) at )

:

Group 32000 - Guide/Bridge Rails,‘ End Sections, & Accessories (Statewide) PAGE 47

PLEASE USE BLACK INK OR TYPEWRITER WHEN

Bidder
PREPARING YOUR BID. BE SURE YOU HAVE DIHIG
INSERTED YOUR COMPANY’S NAME IN THE BOX PO BO)? %@XIS’GN &3TR
D DD DD '
‘ NEW YORK MiLLS Ny 134170123
IYPE 2 - BRIDGE RAIL, POSTS AND ACCESSORIES:
LOT VI (Items #165 - 197)
COMPONENTS FOR BRIDGE RAILING SYSTEMS,
CONFORMING TO LATEST FEDERAL 350 STANDARDS
AS PER DRAWINGS BD-RS1R3 THROUGH BD-RSSR3)
CLASS A - (Lot VI - Items #165 - 182) .
Unit Total
Item o Estimated Delivered Delivered
No. Description . Quantity Price Price
165. Two(2) Rail Post complete w/Base 4 ¥
(BD-RS! R3) 100 s /33 s /3,300
166.  Four (4) Rail Post (Curbless) w/Base 4] 5]
(BD-RS2 R3) 100 160 16,000
167.  Five (5) Rail Post (Curbless) w/Base (5 ¢
(BD-RS3 R4) 100 |83 / ?, 300 !
168.  Three (3) Rail Post (Curbless) w/Base 00 ¢y
(BD-RS1-R3) 100 4T 14, 700
169. Two (2) Rail Post (Curbless) w/Base Plate (4] e
Low Volume Bridges (BD-RL-3) 20 l "ff o? ?0 0

170. 152 x 152 x 4.8 mm Galvanized Box Beam,
Rail tubes, 30" lengths
(Note: Other lengths available on
equivalent pro-rated basis) 100

171.  Expansion Splice Tube, Galvanized. 127 x
127 x 7.9mm, 900mm long, w/22mm dia.
Holes (BD-RS8 R3) 200

172.  Expansion Splice Tube, Galvanized.
127 x 127 x 7.9mm, 876mm long
(BD-RL-4) Splice Tube A 50

173.  Expansion Splice Bar, Galvanized. 100 x 56 x
900mm w/22mm dia. Holes. (BD-RS8 R3) 200

174.  Fixed Splice Tube, Galvanized. 127 x 127 x
7.9mm, 685mm long w/22mm holes.
(BD-RS8 R3) 200

175.  Expansion Splice Tube , Galvanized.
127 x 127 x 7.9mm, 876 mm long
(BD-RL-5) Splice Tube B 50

(continued)

20674i.doc/PSGTeam 06/jem

L5 36, £00

95~ )9 e00”
745" A 950"
277 25 400

50" /b, 000

B = o5yt



Group 32000 - Guide/Bridge Rails, End Sections, & Accessories (Statewide) : PAGE 48
PLEASE USE BLACK INK OR TYPEWRITER WHEN Bidder
PREPARING YOUR BID.  BE SURE YOU HAVE
INSERTED YOUR COMPANY’S NAME IN THE BOX — L e —
D DD DD D D
TYPE 2 - BRIDGE RAIL, POSTS AND ACCESSORIES:
LOT VI (Items #165 - 197)
COMPONENTS FOR BRIDGE RAILING SYSTEMS,
CONFORMING TO LATEST FEDERAL 350 STANDARDS
{AS PER DRAWINGS BD-RS1 R3 THROUGH BD-RS8R3)
CLASS A - (Lot VI - Items #165 - 182) (Cont’d)
Unit Total
Item Estimated Delivered Delivered
No. Description Quantity Price Price
176. Fixed Splice Bar, Galvanized 100 x 56 x 685mm, o OO o0
w/22mm Diameter Holes. (BD-RS8 R3) 200 /22 2 ot
177. 127 x 76 x 6.4 mm Galvanized Rail tubes,
30' lengths (Note: Other lengths available on o0 ;
ivalent pro-rated basis) (BD- 345. L Sao, 9°
equivalent pro-rated basis) (BD-RS1 R3) 100 ¢ 32 5 ‘
178. 127 x 76 x 6.4 mm Galvanized Rail tubes, R :
26 lengths w/Top Rail Kickback (BD-RS5 R4) 100 450. i 45 ww,2°
179.  Five (5) Rail Post for Bicycles w/Base A o0
(BD-RS3 R3) 100 215, 2/ S50, ¢
180. 3 x 5 x 1/4” Galvanized Rail Tube
(Slot On Bottom) (BDD95-MS9A) ] o
30 feet long, will prorate other lengths 10 32ﬂ ,tm 3 240, 2
o "
181. Bar Splice, 36” Long (BDD96-51A) 20 5 . ‘ J, J()
182. Bar Splice, 18” Long o0 2
(BDD96-M4S End Splice) 5 75 375, “
CLASS D - (Lot VI - Items #183 - 193)
183, M24 Anchor Stud, complete with four (4)
Hex Nuts and four (4) Washers, 18" long, 20
(BD-RS2 R3) 1,000 /4, /b 0,97
184, M24 Anchor Stud, complete with four (4)
Hex Nuts and four (4) Washers, 14" long, - 00 . 2
(BD-RS1 R3) 1,000 /3, /34w, %
185.  Price per inch additional, over and above
Item #2, for extra long M24 Anchor Studs . . 2
up to 24" (BD-RS1 R3) 1,000 + /0 Jinch . ”
(continued)

20674i.doc/PSGTeam 06/jem

Group 32000 - Guide/Bridge Rails, End Sections, & Accessories (Statewide)

PAGE 48

PLEASE USE BLACK INK OR TYPEWRITER WHEN

Bidder
PREPARING YOUR BID. ,BE SURE YOU HAVE DIHIGHWAY SIGN & STR
INSERTED YOUR COMPANY’S NAME IN THE BOX PO BOX123
=225 NEW YORK MILLS NY 13417-0123
TYPE 2 - BRIDGE RAIL, POSTS AND ACCESSORIES:
LOT VI (Items #165 - 197)
COMPONENTS FOR BRIDGE RAILING SYSTEMS,
CONFORMING TO LATEST FEDERAL 350 STANDARDS
(AS PER DRAWINGS BD-RS1 R3 THROUGH BD-RSSRS)
CLASS A - (Lot VI - Items #165 - 182) (Cont’d)
Unit Total
Item Estimated Delivered Delivered
No. Description Quantity Price Price
176. Fixed Splice Bar, Galvanized 100 x 56 x 685mm, Y of
w/22mm Diameter Holes. (BD-RS8 R3) 200 /02 A0, 460
177. 127 x 76 x 6.4 mm Galvanized Rail tubes,
30' lengths (Note: Other lengths available on ¥ v
equivalent pro-rated basis) (BD-RS1 R3) 100 ﬁ /!;S 3 / ) 5- 00
178. 127 x 76 x 6.4 mm Galvanized Rail tubes, Y » oy
26 lengths w/Top Rail Kickback (BD-RS5 R4) 100 253 F5 206
179.  Five (5) Rail Post for Bicycles w/Base w LA
(BD-RS3 R3) 100 ) &3 e

180. 3 x 5 x 1/4” Galvanized Rail Tube
(Slot On Bottom) (BDD95-MS9A)
30 feet long, will prorate other lengths 10

181.  Bar Splice, 36” Long (BDD96-51A) 20

182.  Bar Splice, 18” Long
(BDD96-M4S End Splice) 5

CLASS D - (Lot VI - Items #183 - 193)
183.  M24 Anchor Stud, complete with four (4)
Hex Nuts and four (4) Washers, 18" long,
(BD-RS2 R3) 1,000

184.  M24 Anchor Stud, complete with four (4)
Hex Nuts and four (4) Washers, 14" long,

(BD-RS1R3) 1,000
185.  Price per inch additional, over and above

Item #2, for extra long M24 Anchor Studs

up to 24" (BD-RS1 R3) 1,000

(continued)

20674i.doc/PSGTeam 06/jem

/inch

/4 600 =

Jooo "



Group 32000 - Guide/Bridge Rails, End Sections, & Accessories (Statewide)

PAGE 49

PLEASE USE BLACK INK OR TYPEWRITER WHEN Bidder

PREPARING YOUR BID. BE SURE YOU HAVE DIHIGHWAY SIGN & STR

INSERTED YOUR COMPANY’S NAME IN THE BOX POBOX123

> =22 NEW YORK MILLS NY 134170123

TYPE 2 - BRIDGE RAIL, POSTS AND ACCESSORIES:

LOT VI (Items #151 - 197)

COMPONENTS FOR BRIDGE RAILING SYSTEMS

CONFORMING TO LATEST FEDERAL 350 STANDARDS

(AS PER DRAWINGS BD-RS1R3 THROUGH BD-RS8R3)

CLASS D - (Lot VI - Items #183 - 193 ) (Cont’d)

Unit Total

Item Estimated Delivered Delivered

No. Description Quantity Price Price

186. M24 Anchor Stud, 12" long, complete R w
with (2) Hex Nuts and two (2) washers. 1,000 i o? / a? 600

187. M20 Bolts, 190mm long, complete a9
w/two (2) washers and a heavy Hex Nut. ;71 = 0 oy
(BD-RS8 R3) 1,000 de

188. M20 Bolts, 190mm long, complete 0
wi/two (2) washers and a heavy Hex Nut. é 2 é 00 v
(BD-RL-4) 100

189.  M20 Bolts, 70mm long, complete w/two (2) 6\
washers, a lock-washer and a heavy Hex Nut 0? p? 00 (7p
(BD-RS2-R3) 100

190. M20 Bolts, 115mm long, complete
w/two (2) Washers and a heavy Hex Nut 0? ¢0 /7(0 0 a9
(BD-RS8 R3) 200

191. M20 Carr Bolts, 190mm long, complete - ol
w/a flat washer, a lock-washer and a / P4 6/0 0
heavy Hex Nut (BD-RL-3) 100 ?

192.  3/4" Diameter 8" long Hex Bolt a¥ o0
(A325) (BD-RS8 R3) 100 é Lod

193. M22 Round Head Bolt, complete
w/a 5 x 50 x 50mm square washer, o -9
a lock washer and a heavy Hex Nut X - ? 00
(BD-RS3-R4) 100

(continued)

20674i.doc/PSGTeam 06/jem

Group 32000 - Guide/Bridge Rails, End Sections, & Accessories (Statewide)

PAGE 49

PLEASE USE BLACK INK OR TYPEWRITER WHEN
PREPARING YOUR BID. BE SURE YOU HAVE
INSERTED YOUR COMPANY’S NAME IN THE BOX

=

Bidder

ek

Lee,

8

X roo,

TYPE 2 - BRIDGE RAIL, POSTS AND ACCESSORIES:
LOT VI (Items #151 - 197)

COMPONENTS FOR BRIDGE RAILING SYSTEMS,
CONFORMING TO LATEST FEDERAL 350 STANDARDS
(AS PER DRAWINGS BD-RS1R3 THROUGH BD-RS8R3)
CLASS D - (Lot VI - Ttems #183 - 193) (Cont’d)

Item Estimated

No. Description Quantity

186. M24 Anchor Stud, 12" long, complete
with (2) Hex Nuts and two (2) washers. 1,000

187.  M20 Bolts, 190mm long, complete
w/two (2) washers and a heavy Hex Nut.
(BD-RS8 R3) 1,000

183.  M20 Bolts, 190mm long, complete
w/two (2) washers and a heavy Hex Nut.
(BD-RL-4) : 100

189.  M20 Bolts, 70mm long, complete w/two (2)
washers, a lock-washer and a heavy Hex Nut
(BD-RS2-R3) - 100

190. M20 Bolts, 115mm long, complete
w/two (2) Washers and a heavy Hex Nut
(BD-RS8 R3) 200

191. M20 Carr Bolts, 190mm long, complete
w/a flat washer, a lock-washer and a
heavy Hex Nut (BD-RL-3) 100

192.  3/4" Diameter 8" long Hex Bolt
(A325) (BD-RS8 R3) 100

193.  M22 Round Head Bolt, complete
w/a 5 x 50 x 50mm square washer,
a lock washer and a heavy Hex Nut
(BD-RS3-R4) 100

(continued)
20674i.doc/PSGTeam 06/jem

Unit
Delivered
Price

107
A
aad
AL

3 S0

5) 25

Total
Delivered
Price

/0 oo, o

—

S50, %

A%, %

358.°¢

i

675,

oc



Group 32000 - Guide/Bridge Rails, End Sections, & Accessories (Statewide) '

PAGE 50

PLEASE USE BLACK INK OR TYPEWRITER WHEN
PREPARING YOUR BID. BE SURE YOU HAVE
INSERTED YOUR COMPANY’S NAME IN THE BOX

A

Bidder

G‘fgafy /)L'_j/\wm; PFMJCU’

TYPE 2 - BRIDGE RAIL. POSTS AND ACCESSORIES:

LOT VI (items #151 - 197)
COMPONENTS FOR BRIDGE RAILING SYSTEMS

CONFORMING TO LATEST FEDERAL 350 STANDARDS

{AS PER DRAWINGS BD-RS1R3 THROUGH BD-RSR3)(Cont'd)
CLASSE - (Lot VI - Items #194 - 197)

Item Estimated
No. Description Quantity

194. 350 x 10 x 250 mm Anchor Plate
(BD-RS7 R3) 100

195.  Anchor Plate (BD-RL-3)

196.  Special Anchor Plate for U-Wings

(BD-RS6 R3) 100

197. Deck Anchor Plate (RB-RS7 R3) 100

GRANDTOTAL BID - LOT VI [Items #165 - 197]:
Manufacturer’s Name:
VA Address of Plant where manufactured:

Guaranteed Delivery:

TYPE 3 - GUIDE RAIL END SECTIONS
LOT VII (Items #198 - 223)
ROAD SYSTEMS INC. "SKT 350 SYSTEM" W/WOOD

BREAKAWAY POSTS

CLASS A - (Lot VII - Items #198 - 199)

- Item  Code Estimated
No. No. Description uanti
198. E731 Foundation Soil Tubes, Solid .

6'0" 2
199. - E740 Pipe Sleeve-2" std pipe x 5-1/2" 1

(continued)
20674i.doc/PSGTeam 06/jem

Unit Total
Deliveg Delivered
Prie< Price
S
Days A/R/O
Unit Total
Delivered Delivered
Price Price
$_@—D $ _@J_U D
K. dwo

Group 32000 - Guide/Bridge Rails, End Sections, & Accessories (Statewide)

PAGE 350

PLEASE USE BLACK INK OR TYPEWRITER WHEN
PREPARING YOUR BID. BE SURE YOU HAVE
INSERTED YOUR COMPANY’S NAME IN THE BOX

2D D D D

Bidder

brod Srsrems, Tre.

TYPE 2 - BRIDGF RAIL, POSTS AND ACCESSORIES:

LOT VI (Items #1351 - 197)

COMPONENTS FOR BRIDGE RAILING SYSTEMS,
CONFORMING TO LATEST FEDERAI. 350 STANDARDS

(AS PER DRAWINGS BD-RS1R3 THROUGH BD-RSR3)(Cont'd

CLASS E - (Lot VI - Items #194 - 197)

Item Estimated
No. Description Quantity

194, 350 x 10 x 250 mm Anchor Plate
(BD-RS7R3) 100

195.  Anchor Plate (BD-RL-3) 20

196. Special Anchor Plate for U-Wing-walls
{BD-RS6 R3) 100

197.  Deck Anchor Plate (BD-RS7 R3) 100

GRAND TOTAL BID - LOT VI {Items #165 - 197):
Manufacturer’s Name:

Address of Plant where manufactured:

Guaranteed Delivery:

TYPE 3 - GUIDE RAIL END SECTIONS
LOT VII (Items #198 - 223)

ROAD SYSTEMS INC. "SKT 350 SYSTEM" W/WOOD
BREAKAWAY POSTS

CLASS A - (Lot VII - Ttems #198 - 199)

Item Code
No. No.

Estimated

Description Quantity

Foundation Soil Tubes, Solid
60" 2

198. © E731

199.  E740 Pipe Sleeve-2" std pipe x 5-1/2" 1

Unit

Price

Delivered

Total
Delivered
Price

(continued)

20674i.doc/PSGTeam 06/jem

Days A/R/O

Unit
Delivered
Price

o
$.120%

10°%

Total
Delivered
Price

s 40 o7
10°°




Group 32000 - Guide/Bridge Rails, End Sections, & Accessories (Statewide)

PAGE 50

PLEASE USE BLACK INK OR TYPEWRITER WHEN
PREPARING YOUR BID. BE SURE YOU HAVE
INSERTED YOUR COMPANY’S NAME IN THE BOX

=

Bidder

DIHIGHWAY SIGN & STR
POBOX123
NEW YORK MILLS NY 13417-0123

TYPE 2 - BRIDGE RAIL, POSTS AND ACCESSORIES:
LOT VI (Items #151 - 197)

COMPONENTS FOR BRIDGE RAILING SYSTEMS,
CONFORMING TO LATEST FEDERAL 350 STANDARDS

(AS PER DRAWINGS BD-RS1R3 THROUGH BD-RSR3)(Cont'd)
CLASSE - (Lot VI - Items #194 - 197 )

Item Estimated
No. Description Quantity
194. 350 x 10 x 250 mm Anchor Plate

(BD-RS7 R3) 100
195. Anchor Plate (BD-RL-3) 20
196. Special Anchor Plate for U-Wing-walls

(BD-RS6 R3) 100
197.  Deck Anchor Plate (BD-RS7 R3) 100

GRAND TOTAL BID - LOT VI [Items #165 - 197]:
Manufacturer’s Name: -

Address of Plant where manufactured:

Guaranteed Delivery:

TYPE 3 - GUIDE RAIL END SECTIONS

LOT VII (Items #198 - 223)

ROAD SYSTEMS INC. "SKT 350 SYSTEM" W/WOOD
BREAKAWAY POSTS

CLASS A - (Lot VII - Items #198 - 199)

Item Code Estimated
No. No. Description Quantity
198. E731 Foundation Soil Tubes, Solid

6' 0" 2
199. E740 Pipe Sleeve-2" std pipe x 5-1/2" 1

Unit Total
Delivered Delivered
Price Price
u D
R0 ** 4,000 ‘:;
il s (80
8 4
A0 o7, 000
-] /4]
)35 /3,530

oY,
s. 354 7)0
L‘ /'LS'A wrd Sien + Shuckuve € g
i) Gréenmun. e ,u,ly.m(ly Wy 13 17

Days A/R/O
Unit Total
Delivered Delivered
Price Price

$NOLLJQ $ (&)

Mo bid o

(continued)
20674i.doc/PSGTeam 06/jem

Group 32000 - Guide/Bridge Rails, End Sections, & Accessories (Statewide)

PAGE 50

PLEASE USE BLACK INK OR TYPEWRITER WHEN
PREPARING YOUR BID. BE SURE YOU HAVE
INSERTED YOUR COMPANY’S NAME IN THE BOX

e

Bidder

ELnErEe, I,

TYPE 2 - BRIDGE RAIL, POSTS AND ACCESSORIES:
LOT VI (Ttems #151 - 197)

COMPONENTS FOR BRIDGE RAILING SYSTEMS,
CONFORMING TO LATEST FEDERAIL 350 STANDARDS
(AS PER DRAWINGS BD-RS1R3 THROUGH BD-RSR3)(Cont'd

CLASSE - (Lot VI - Items #194 - 197)

Item Estimated
No. Description uanti
194. 350 x 10 x 250 mm Anchor Plate

(BD-RS7 R3) 100
195. Anchor Plate (BD-RL-3) 20
196.  Special Anchor Plate for U-Wing-walls

(BD-RS6 R3) 100
197. Deck Anchor Plate (BD-RS7 R3) 100

GRAND TOTAL BID - LOT VI [Items #165 - 197]:
Manufacturer’s Name:

Address of Plant where manufactured:

Guaranteed Delivery:

TYPE 3 - GUIDE RAIL END SECTIONS

LOT VII (Items #198 - 223)

ROAD SYSTEMS INC. "SKT 350 SYSTEM" W/WOOD
BREAKAWAY POSTS

CLASS A - (Lot VII - Items #198 - 199)

Item Code Estimated
No. No. Description Quantity
198. E731 Foundation Soil Tubes, Solid

6'0" 2
199.  E740 Pipe Sleeve-2" std pipe x 5-1/2" 1

(continued)
20674i.doc/PSGTeam 06/jem

-

Unit

Total
Delivered " Delivered
Price Price
22,99 2,700, °°
7 R 920.°
oc )
A7, 2, 700. °°
iliﬂ,da /iié’ﬁ? V-l
i s_ 376500, %
ELNeplss ToiC.”
CAKS @A T/25, MP7Y57S
Days
Unit I Total
Delivered Delivered
Price Price
3 $




PAGE 51 PAGE 51

Group 3_2000 - Guide/Bridge Rails, End Sections, & Accessories (Statewide) Group 32000 - Guide/Bridge Rails, End Sections, & Accessories (Statewide)

PLEASE USE BLACK INK OR TYPEWRITER WEHEN Bidder

|

!

PLEASE USE BLACK INK OR TYPEWRITER WHEN Bidder i
PREPARING YOUR BID. BE SURE YOU HAVE ]

- INSERTED YOUR COMPANY’S NAME IN THE BOX !

=2 D e s DD

Greory /J;jl\wh) Prodver

TYPE 3 - GUIDE RAIL END SECTIONS
LOT VII (Items #198 - 223)

ROAD SYSTEMS INC. "SKT 350 SYSTEM" W/ WOOD

BREAKAWAY POSTS (Cont’d):

CLASS B - (Lot VII - Items #200 -201)

Item
No.

200.

201.

Code
No.

S1303

G1203

Description

‘W-Beam Guardrail

End Section, 12GA, 12'6"
W-Beam Guardrail,
12GA, 12'6"

CLASS D - (T.ot VII - Items #202 - 214)

202.
203.
204.
205.
| 206.
207.
208.

209.

210.

211.

212.

213.

214.

B580122

B580754

B581004

B581002

B581802

NO50

W50

N100

w100

~ E350

SB58A

NOSSA

WO050A

5/8"x1-1/4" Splice Bolt
5/8"x7-1/2" Hex Bolt
5/8"x10" Hex Bolt
5/8"x10" H.G.R. Post Bolt
5/8"x18" H.G.R. Post Bolt
5/8" H.G.R. Nut

5/8" Flat Washer

1" Anchor Cable Hex Nut
1" Anchor Cable Washer
3/8"x3" Lag Screw

Cable Anchor Bracket
Shoulder Bolt

1/2" A325 Structural Nut

1-1/16" O.D. x 9/16" LD.
A325 Structural Washer

20674i.doc/PSGTeam 06/jem

Estimated
uanti

32

43

11

16

(continued)

Total
Delivered
Price

110,00
6%.vv

S

£
<
nd” '
oL W
OC %

SRRRRERR

ai] |
N

ko
- I
““

b

Delivered
Price

[[O v
301'1107)

3

2555,

e
w
%4

€

X
_B.16

PREPARING YOUR BID. BE SURE YOU HAVE
INSERTED YOUR COMPANY’S NAME IN THE BOX

=

ool S FSTEms, Ire .

TYPE 3 - GUIDE RAIL END SECTIONS

LOT VII (items #198 - 223)

ROAD SYSTEMS INC. "SKT 350 SYSTEM" W/WOOD

BREAKAWAY POSTS (Cont’d):

CLASS B - (Lot VII - Items #200 -201)

Item
No.

200.

201.

Code
No.

S1303

G1203

Description

. W-Beam Guardrail

End Section, 12GA, 12'6"
W-Beam Guardrail,
12GA, 12'6"

CLASS D - (Lot VII - Jtems #202 - 214)

202,

203.

204.

210.

211.

212.

B580122
B580754
B581004
B581002
B581802
NO50
w050
N100
w100
E350

SB58A

NO35A

WOS0A

5/8"x1-1/4" Splice Bolt
5/8"x7-1/2" Hex Bolt
5/8"x10" Hex Bolt
5/8"x10" H.G.R. Post Boit
5/8"x18" H.G.R. Post Bolt
5/8" H.G.R. Nut

5/8" Flat Washer

1" Anchor Cable Hex Nut
1" Anchor Cable Washer
3/8"x3" Lag Screw

Cable Anchor Bracket
Shoulder Bolt

1/2" A325 Structural Nut

1-1/16" O.D. x 9/16" LD.
A325 Structural Washer

206741.doc/PSGTeam 06/jem

Estimated

Quantity

32

43

11

i6

(continued) -

Total
Delivered
Price

15D
[44D°°

- 50
[-4D
20
/-6D
Z.00
.70
. 5D
/.25
-85
1.5D

2.0
1.0D

- 50

Delivered
Price

150°°
<420°°




Group 32000 - Guide/Bridgé Rails, End Sections, & Accessories (Statewide)

PAGE 52

PLEASE USE BLACK INK OR TYPEWRITER WHEN
PREPARING YOUR BID. BE SURE YOU HAVE
INSERTED YOUR COMPANY’S NAME IN THE BOX

A

Bidder

é;vmy ﬂﬁ&%@jg%wbuj

TYPE 3 - GUIDE RAIL END SECTIONS

LOT VII (Items #198 -223)
ROAD SYSTEMS INC. "SKT 350 SYSTEM" W/ WOOD

BREAKAWAY POSTS:

CLASS E - (Lot VII - Items #215 - 219)
Item Code Estimated
No. No. Description uanti
215. S3000 Impact Head 1
216. E750 Bearing Plate 8" x 8" x 5/8" 1
217. S760 Cable Anchor Bracket 1
218. E770 BCT Cable Anchor Assembly 1
219. E780 Ground Strut 1

CLASS F - (Lot VII - Items #220 - 222)
220. P650 Wood Posts,

5-1/2" x 7-1/2" x 45" 2

221. P671 Wood CTR Posts 6"x8"x6'-0" 6
222. P675 Timber Block-outs 6"x8"x14" 6

CLASS E - (Lot VII - Item #223 )

223.  One complete SKT 350 System w/ WOOD Breakaway
Posts, including all of the above SKT components in
the proper quantities and including a discount for
ordering a complete system. 1

GRAND TOTAL BID - LOT VII [Items #198-223]:

Manufacturer's Name:
Manufacturer's Plant Address:
Guaranteed Delivery:

20674i.doc/PSGTeam 06/jem

(continued)

Unit Total
Dc?livered Dc?livered
&I_EQQ UD sze 20, SO
13,50 _13.5°0
SL.ov Sl
Sl.ov S1.0D
$Swov §S oD
99.00 ¢¥.0v
36.V0  DJ6,uD
[l.2S £7.50
[6SO.op 65D, vV
5. 3,396. €2

Grq,yry }i,‘\LW:M ‘?/‘oyll/("f'f
<dr_

Uiy 1 342 Copndzm ot V2o

3v-90  Days A/R/O

Group 32000 - Guide/Bridge Rails, End Sections, & Accessories (Statewide)

PAGE 52

PLEASE USE BLACK INK OR TYPEWRITER WHEN
PREPARING YOUR BID. BE SURE YOU HAVE
INSERTED YOUR COMPANY’S NAME IN THE BOX

e

Bidder

Jooad Srstems, INe.

TYPE 3 - GUIDE RAIL END SECTIONS
LOT VII (items #198 -223)
ROAD SYSTEMS INC. "SKT 350 SYSTEM" W/WQOOD

BREAKAWAY POSTS:

CLASS E - (Lot VII - Items #215 - 219
Item Code . Estimated
No. No. Description uanti
215. 83000 _ Impact Head 1
216.  ET750 Bearing Plate 8" x 8" x 5/8" 1
217.  S760 Cable Anchor Bracket 1
218. E770 BCT Cable Anchor Assembly - 1

219. E780 Ground Strut 1

CLASS F - (Lot VII - Items #220 - 222)

220. P650 Wood Posts,

5-1/2" x 7-1/2" x 45" 2
221. P671 Wood CTR Posts 6"x8"x6"-0" 6
222. P675 Timber Block-outs 6"x8"x14" 6

CLASSE - (Lot VII - Item #223 )

223.  One complete SKT 350 System w/ WOOD Breakaway

Posts, including all of the above SKT components in
the proper quantities and including a discount for
ordering a complete system. 1

GRAND TOTAL BID - LOT VII {Items #198-223]:

Manufacturer's Name:
Manufacturer's Plant Address:
Guaranteed Delivery:

Unit Total
Delivered Delivered
Bn—s‘c.; 5 o0 Er_i_c_; 75 s®

15%° /5 °%

L5 % o5 °F
“8°= A48 o0
_50°7 _50.00
30°° LD °°
<40 °= 240 °~

/ 3 o° ,-7 5 o=

/57700 -+ /57700
$ S349.50

/?oa.o' S 7’5‘7’29,075 ZNe,

Bbll Hovwerd Co. AR PORT R,
o g Days A/R/O

20674i.doc/PSGTeam 06/jem

(continued) -



Group 32000 - Guide/Bridge Rails, End Sections, & Accessories (Statewide)

PAGE 53

PLEASE USE BLACK INK OR TYPEWRITER WHEN
PREPARING YOUR BID. BE SURE YOU HAVE
INSERTED YOUR COMPANY’S NAME IN THE BOX

B

Bidder

TYPE 3 - GUIDE RAIL END SECTIONS

LOT VIII (Items #224 - 264) .

ROAD SYSTEMS INC. "SKT 350 " STEEL POST SYSTEM
W/HINGED & WELDED OPTIONS. and TANGENT

or FLARED IMPACT HEADS
CLASS A - (Lot VIII- Items #224 - 232)
Item Code Estimated
No. No. Description uanti
224. PB620 Welded Breakaway End Post 2
225. PBé621 Welded Breakaway Line Post 6
226. HPI1A Hinged First Post Top Assembly 1
227. HPIB Hinged First Post Bottom Assembly
1
228. HP2A Hinged Second Post Top Assembly 1
229. HP2B Hinged Second Post Bottom Assembly
1
230. HP3A Hinged Line Post Top Assembly 6
231. HP3B Hinged Line Post Bottom Assembly
6
232. E731 Foundation Soil Tube, Solid
6'0" ' 2
CLASS B - (Lot VIII- Ttems #233 - 235)
233. 81303 W-Beam Guardrail End Section, 12 gauge
12.5' - For use with Tangent Impact Head
1 . .
234. F1303 W-Beam Guardrail End Section, 12 gauge,
: 12.5' - For use with Flared Impact Head
1
235.  G1203 W-Beam Guardrail, 12 gauge, 12.5
. ' -3
(continued)

20674i.doc/PSGTeam 06/jem

éftﬁav/ﬁ/ /lt%wp 94)/05;5’

Unit
Delivered
Price

569,00
79.¢0
Lo ,v0

Lyj.ov

o VA%

HY.00

Ho w0
Y7.00
s, 00

Total
Delivered
Price

s 134.00

YT7H.0p
L0, 0D

L{1.0D
Ho .ov

U3.00
40 D

284, o0

(90, 0D

{lp.ov

10.00

Q0H. 0D

Group 32000 - Guide/Bridge Rails, End Sections, & Accessories (Statewide) PAGE
PLEASE USE BLACK INK OR TYPEWRITER WHEN Bidder
PREPARING YOUR BID. BE SURE YOU HAVE
INSERTED YOUR COMPANY’S NAME IN THE BOX
D D D DD
. &a_o/ 5?1'57‘8/9?5“; Ire .
TYPE 3 - GUIDE RAIL END SECTIONS
LOT VIII (Items #224 - 264)
ROAD SYSTEMS INC. "SKT 350 " STEEL POST SYSTEM
w/HINGED & WELDED OPTIONS, and TANGENT
or FLARED IMPACT HEADS
CLASS A - (Lot VIII- Items #224 - 232)
Unit Total
Item Code Estimated Delivered Delivered
No. No. " Description . uanti Price Price
o
224. PB620  Welded Breakaway End Post 2 s 9H°" s /18D°°
oo
225. PB621 Welded Breakaway Line Post 6 0™ 54D.e2
=
226. HPiA Hinged First Post Top Assembly 1 ﬂb o= -"*I'D o=
227. HPIB Hinged First Post Bottom Assembly ©
1 8o* 8O
228. HP2A Hinged Second Post Top Assembly 1 < Deg <4 o=
229. HP2B Hinged Second Post Bottom Assembly PYo) ©
i 15°7 75°-
D
230. HP3A Hinged Line Post Top Assembly 6 “4p °- ALD 2
231. HP3B Hinged Line Post Bottom Assembly
6 o0~ SeD®°
232. E731 Foundation Soil Tube, Solid - °
60" 2 /20 °- FY40° -
CLASS B - (Lot VIII- Items #233 - 235)
233, S1303 W-Beam Guardrail End Section, 12 gauge
12.5' - For use with Tangent Impact Head oo e
1 /150 - /50 "~
234, F1303 W-Beam Guardrail End Section, 12 gauge,
12.5' - For use with Flared Impact Head o9 o
1 /507 /50 °-
235.  G1203 W-Beam Guardrail, 12 gauge, 12.5' S
& 3 J4D " 2420°7

(continued) ~

20674i.doc/PSGTeam 06/jem




Group 32000 - Guide/Bridge Rails, End Sections, & Accessories (Statewide) PAGE 54 ! Group 32000 - Guide/Bridge Rails, End Sections, & Accessories (Statewide) PAGE 54

PLEASE USE BLACK INK OR TYPEWRITER WHEN Bidder PLEASE USE BLACK INK OR TYPEWRITER WHEN Bidder
PREPARING YOUR BID. BE SURE YOU HAVE
INSERTED YOUR COMPANY’S NAME IN THE BOX : PREPARING YOUR BID. BE SURE YOU HAVE
6 P l\ A : ‘ INSERTED YOUR COMPANY’S NAME IN THE BOX
> > D FEoly tyhveey rod veis ; ' R
. | D DD D D D EOG&SVS‘T'SMS,JNC~
] - . .
: |
TYPE 3 - GUIDE RAIL END SECTIONS
Eﬁl%f%m— . TYPE 3 - GUIDE RAIL END SECTIONS
ROAD SYSTEMS INC. "SKT 350 SYSTEM" W/STEEL LOT VI (Items #224 - 264)
BREAKAWAY POSTS . — ROAD SYSTEMS INC. "SKT 350 SYSTEM" W/STEEL
CLASS D - (Lot VIII- Items #236- 253 )(Cont'd) v BREAKAWAY POSTS: '
, : Unit Total CLASS D - (Lot VIII- Items #236- 253 )(Cont'd) '
Item Code Estimated Delivered Delivered , _ Unit Tots.ﬂ
No. No. Description uanti Price Price Item Code o Estxma}ted Delivered Delivered
=esciiption = — \ No. No. Description Quantity Price Price
236. B580122  5/8" Diameter x 1-1/4" Splice Bolt
(for Post #2) P 40 S JO.H O 236. B580122 - 5/8" Diameter x 1-1/4" Splice Bolt -
——/ y (for Post #2) 40 50 FO "~
237. B580754  5/8" Diameter x 7-1/2" Hex Bolt 6 HO O
— } 237. B580754  5/8" Diameter x 7-1/2" Hex Bolt 6 /A0 B0
238. B341004  3/4" dia. x 10" Hex Bolt 6 H.35 26 . [0 ‘
239. B581002  5/8" dia.x 10" H.G.R. Bolt 238. B341004  3/4" dia. x 10" Hex Bolt 6 /.50 .00
(Posts 3-8) 6 J.00 [d. 0 239. B581002  5/8" dia. x 10" H.G.R. Bolt I
(Posts 3-8) 6 /.50 Q.00
240.  N050 5/8" dia. H.G.R. Nut 50 S 25.5D
- 240. NO050 5/8" dia. H.G.R. Nut 50 .50 o25.00
241.  NO030 3/4" dia. Hex Nut 2 65 |.20
241,  N030 3/4" dia. Hex Nut 2 . D ). RO
242, WO050 H.G.R. Washer 7 Ry 3.57 -
242, 'W050 H.G.R. Washer 7 - 50 5.50
243,  'W030 3/4" ID Washer 4 Yo (.60 e
243, 'W030 3/4" ID Washer 4 .55 Z. 20
244, N100 1" Anchor Cable Hex Nut 2 A5 2130
‘ - 244.  N100 1" Anchor Cable Hex Nut 2 [.25 £-50
245. W100 1" Anchor Cable Washer 2 . 8 A0
: 245.  'W100 1" Anchor Cable Washer 2 -85 1.70
246. B140404  1/4" x 4" Hex Bolt o2 80 [.6O
, 246. B140404  1/4" x 4" Hex Boit 2 /.50 F oo
247. NO14 1/4" Hex Nut 2 \J0 ,HO — -
247. NOl4 1/4" Hex Nut 2 - 50 . /.00
248,  Wo014 1/4" Washer 4 AS B Lo ; — E—
' o 248, Wol4 1/4" Washer 4 A5 /.80
249. SBS58A Cable Anchor Bracket ) . . !
' Shoulder Bolt 8 Q—(fD 6.0 249. SBSSA Cable Anchor Bracket
_ — (.40 Shoulder Boit 8 2. 00 S o . ©OO
250. NOSSA  1/2" A325 Structural Nut 8 P .9 E— —_—
‘ 250.  NO55A 1/2" A325 Structural Nut 8 /[.©O 5. 00
251. WOS0A  1-1/16" OD x 9/16" ID A325 s L{ o —_— ——
: Straight Washer 8 d / _.__'_L 251.  WO050A 1-1/16" OD x 9/16" ID A325 )
252.  B580904A 5/8" Diameter x 9" Hex Bol ' Straight Washer 8 - 50 AF.OO
. " Diameter x 9" Hex Bolt _ O
Grade 5 6 i‘)_ _.5:9‘_30_ 252. BS580904A 5/8" Diameter x 9" Hex Bolt 2.75 ,
de 5 6 : .
253. B340854A 3/4" Diameter x 8 /12" Hex Bolt _ 0 — O O Grade — —('i‘g‘g‘)‘
Grade A449 6 - 0SS —é*' 1 v 253.  B340854A 3/4" Diameter x 8 /12" Hex Bolt
Grade A449 6 3.35 HO. 1O
(continued
20674i.doc/PSGTeam 06/jem (continued} -

206741.doc/PSGTeam 06/jem



Group 32000 - Guide/Bridge Rails, End Sections, & Accessories (Statewide) PAGE 55

PLEASE USE BLACK INK OR TYPEWRITER WHEN

PREPARING YOUR BID.

BE SURE YOU HAVE

INSERTED YOUR COMPANY’S NAME IN THE BOX
A —

Bidder

Grenory Highwany Prskes

TYPE 3 - GUIDE RAIL END SECTIONS

LOT VIII (Items #224 - 264)
ROAD SYSTEMS INC. "SKT 350 SYSTEM" W/STEEL

BREAKAWAY POSTS: (Cont'd)

CLASS E - (Lot VIII- Items #254 - 260)

Item Code Estimated
No. No. Description uanti
254.  S3000 Tangent Impact Head 1
255.  F3000 Flared Impact Head 1
256. E750 . Bearing Plate, 8" x 8" x 5/8" 1
257. 8760 Cable Anchor Box 1
258. E770 BCT Cable Anchor Assembly 1
259. E780 Welded Ground Strut 1
260. E785 Ground Strut Hinged Post 1
CLASS F - (Lot VIII- Item #261)

261. P616 Routed Timber Block Out

or Recycled Equivalent 6

CLASS E - (Lot VIII- Item #262 - 264 )

" 262.

263.

264.

One complete SKT 350 System w/ Welded Steel

Breakaway Posts, & Tangent Impact Head
including all necessary components & hardware,
including a discount for ordering a

complete system.

One complete SKT 350 System w/ Hinged Steel
Breakaway Posts, & Tangent Impact Head

including all necessary components & hardware,
including a discount for ordering a

complete system.

One complete SKT 350 System w/ Hinged Stee]

Breakaway Posts, & Flared Impact Head
including all necessary components & hardware,

including a discount for ordering a

complete system.

1

GRAND TOTAL BID - LOT VIII [Items #224- 264]:

Manufacturer's Name:

Manufacturer's Plant Address:

20674i.doc/PSGTeam 06/jem

Guaranteed Delivery:

(continued

Unit Total
Delivered Delivered
Price Price
£20,0D 620,00
HYE S oD L4S. 0D
lg S {3 ¢8O
Sl.op $§7 .50
YR x” S7.00

[700,00  |792,0D

/(S0 .00 /6 0. 0D

’

[600 0D /60D ,00

$.?S'I§? S
5res,my H:‘qhm Pra-p(ch;

Uity (37 ST (oontem OB Y 710

30-90 Days A/R/O




Group 32000 - Guide/Bridge Rails, End Sections, & Accessories (Statewide) PAGE 55

PLEASE USE BLACK INK OR TYPEWRITER WHEN Bidder
PREPARING YOUR BID. BE SURE YOU HAVE
INSERTED YOUR COMPANY’S NAME IN THE BOX

> oD s EOQ N S rsrepsms, Tic.

TYPE 3 - GUIDE RAIL END SECTIONS

LOT VIII (Items #224 - 264)

ROAD SYSTEMS INC. "SKT 350 SYSTEM" W/STEEL
BREAKAWAY POSTS: (Cont'd)

CLASSE - (Lot VIII- Items #254 - 260) Unit ' Total
Item Code Estimated _ Delivered Delivered
No. No. Description Quantity Price Price
254.  S3000 Tangent Impact Head 1 5725 °= 575°
255.  F3000 _ Flared Impact Head 1 HYHp 02 “AOO ©F
256. E750 Bearing Plate, 8" x 8" x 5/8" 1 ) oL L4
257. S760 Cable Anchor Box 1 {p5°° 5%
258. E770 BCT Cable Anchor Assembly 1 <& ©- ot
259. E780 Welded Ground Strut 1 5H°° 5p°e2
260. E785 Ground Strut Hinged Post 1 g2 52

CLASS ¥ - (Lot VIII- Item #261)

261. P616 Routed Timber Block Out oo 0o
or Recycled Equivalent 6 8 8"

CLASS E - (Lot VIII- Item #262 - 264 )

262.  One complete SKT 350 System w/ Welded Steel
Breakaway Posts, & Tangent Impact Head
including all necessary components & hardware,
including a discount for ordering a

complete system. 1 /900 /90D -

263.  One complete SKT 350 System w/ Hinged Steel

Breakaway Posts, & Tangent Impact Head
including all necessary components & hardware,

including a discount for ordering a °® 50
complete system. 1 /90D ! / 900D -
FLEAT .

264. One complete S 350 System w/ Hinged Steel
Breakaway Posts, & Flared Impact Head

including all necessary components & hardware,

including a discount for ordering a . ©o S
complete system. 1 1735 [TR5 -
GRAND TOTAL BID - LOT VIII [Items #224- 264]: s 9d45.9D
Manufacturer's Name: EOCE,O/ S r’'sTems TNC .
Manufacturer's Plant Address: 3belle Howeard Co. AlrPorT KJI .
Guaranteed Delivery: 45 Days A/R/O
{continued} ~

206741.doc/PSGTeam 06/jem



4

Group 32000 - Guide/Bridge Rails, End Sections, & Accessories (Statewide)

PAGE 56

PLEASE USE BLACK INK OR TYPEWRITER WHEN
PREPARING YOUR BID. BE SURE YOU HAVE
INSERTED YOUR COMPANY’S NAME IN THE BOX

=

Bidder

Koo S rstems, IIN< .

TYPE 3 - GUIDE RAIL END SECTIONS
LOT IX (Items #265 - 294)

ROAD SYSTEMS INC, "BEAT" ROADSIDE TERMINAL
SYSTEM

CLASS A - (Lot IX- Items #265- 267)

Item Code Estimaied
No. No. Description uanti
265. A Lower First/ Post
W6"x15"x8'-0"LG. 1
266. B Upper First Post
W6"x9"x1'-9.5" LG. i
267. ¥ Weak Box Beam Post
w/Soil Plate 1
CLASS B - (Lot IX- Item #268 )
268. End Tube Rail
TS 6x6x1/8x12'-0" LG. 1
CLASS C - (Lot IX- Item #269)
269. F Cable Assembly 1

CLASS D - (Lot IX- Items #270 - 287)

Unit
Delivered
Price

$ D57
2 8-‘0

(D>

800~

48 S

150
.35
A.5D
.00
A-50
75
.50
D
)

270. a. 5/16"x7-1/2" Lg. Grade 5 Bolt 2
271. b. 1/4"x3" Lg. Grade 2 Bolt 1
272. . 1/2"x2" Lg. Grade 5 Bolt 2
273. 4. 5/8"x2-1/2" Lg. Grade 5 Bolt 8
274, e. 5/8"x8" Lg. Grade 5 Bolt 1
275. .f. 5/8"x3" Lg. Grade 5 Bolt 1
276. g. 5/16" Hex Nut 2
277. h. 1/4" Hex Nut 1
278. . 1/2" Hex Nut 2
279. k. 5/8" Hex Nut 13
(continued) -

20674i.doc/PSGTeam 06/jem

Total
Delivered
Price

3390 °°
190 °2

©

3D

8006 °°

OO

A8

3.5D
- 50
<.1D
20.00

5. 00
- 50
/- 5D
50
/.Z2.D
4.5




Group 32000 - Guide/Bridge Rails, End Sections, & Accessories (Statewide) PAGE 57

PLEASE USE BLACK INK OR TYPEWRITER WHEN Bidder
PREPARING YOUR BID. BE SURE YOU HAVE
INSERTED YOUR COMPANY’S NAME IN THE BOX

-

ICocd Srsteris, 7ic.

TYPE 3 - GUIDE RAIL END SECTIONS
LOT IX (Ttemas #265 - 294)
ROAD SYSTEMS INC. "BEAT" ROADSIDE TERMINAL
SYSTEM: CLASS D - (Lot IX- Ttems #280 - 287 ) (Cont'd)
] Unit Total
Item Code Estimated Delivered Delivered
No. No, Description uanti Price Price
280. m. 3/4" Hex Nut 1 . Lo O WD)
281. . 1" Anchor Cable Hex Nut 2 /.25 2. 50
282.  p. 5/16" Washer 4 - #5 /.80
283. g 1/4" Washer 1 A5 L As
284, r 1/2" Washer 2 50 .00
285. s 5/8" Washer 9 - 50 A 50
286, t 1" Anchor Cable Washer 1 85 -85
287. u 3/4" Washer 2 - 55 [-{O
- CLASSE - (Lot IX- Items #288 - 293)
288. C Support Bracket, 10 GA.
Bent Plate 1 AO.O0 0. 00
289. D Post Breaker 1 [20.0D [A0. 00
29. G Bearing Plate 1 15 °° /5.00
291. H Box Beam Head 1 575 oL 575 °L
292. 1 Rail Support Bracket .
L5x3-1/2x3/8x4-1/2" 1 54> 5%
293. K End Tube Section Tie Plate 2 (oD /A0°°
CLASS B - (Lot IX- Item #294 )
294, One complete Beat Roadside Terminal
System, including all above Beat Roadside
Components and including discount for o
ordering a complete system. 1 57"400 e @’;: i}fOD %
(includes object marker decals - E3151)
GRAND TOTAL BID - LOT IX [Items #265 - 294]: $__4783.95 '
Manufacturer's Name: ] nNC
Manufacturer's Plant Address: Blelle Houws . RIRFORT Ed .
Guaranteed Delivery: 45 Days A/R/C
(continued} ~
20674i.doc/PSGTeam 06/jem




Group 32000 - Guide/Bridge Rails, End Sections, & Accessories (Statewide)

PAGE 58

PLEASE USE BLACK INK OR TYPEWRITER WHEN
PREPARING YOUR BID. BE SURE YOU HAVE
INSERTED YOUR COMPANY’S NAME IN THE BOX

A=

Bidder

Corad xf%ﬁLZEAch/

——

o —

TYPE 3 - GUIDE RAIL END SECTIONS

LOT X (Ttems #295 - 331)

ROAD SYSTEMS INC. "BEAT-MT" MEDIAN TERMINAL
SYSTEM

CLASS A - (Lot X- Items #295 - 297)

Item Code Estilﬁated
No. No. Description Quantity
295. A
Lower First Post

W6"x15"x8'-0" Lg. 1
2%. B Upper First Post

W6"x9"x1'-9.75" Lg. 1
297. 1 Weak Box Beam Post

w/Soil Plate 4

CLASS B - (Lot X- Items #298 - 299 )

298. E End Tube Rail

TS 6x6x1/8x12'-0" Lg. 1
299. N 2nd Rail TS 6"x6"x3/16"x

18'-0" Lg. 1

CLASS C - (Lot X- Items #300 - 301)

300. F Anchor Cable Ass'y 1

301. M Galvanized Cable 3/8"x 20'-0" 1
302, a &ff, #36"x7-1/2"Lg. A307 Bolt 5
303. b 1/4"x3" Lg. Grade 2 Bolt 1
304, ¢ 1/2"x2" Lg. Grade 5 Bolt 1
305. d 1/2"x5" Lg. Grade 5 Bolt 1
306. e 5/8"x2-1/2" Lg. Grade 5 Bolt 8
307. f 5/8"x3" Lg. Grade 5 Bolt i
308. ¢ 5/8"x7" Lg. Grade 5 Bolt 4
309. h 5/8"x8" Lg. Grade 5 Bolt 1

(continued) ~
20674i.doc/PSGTeam 06/jem

Unit
Delivered
Price

5 290 °°

A

Total
Delivered
Price

$. 290 °°
ap°s
IA0°°

(ol )

800 "~
815 %

48°°

S0~

150
.35
.50
0. OO
5O

//.00
J o0

————



Group 32000 - Guide/Bridge Rails, End Sections, & Accessories (Statewide)

PAGE 59

PLEASE USE BLACK INK OR TYPEWRITER WHEN
PREPARING YOUR BID. BE SURE YOU HAVE
INSERTED YOUR COMPANY’S NAME IN THE BOX

= e

Bjdder

ieoc..ol SKSE/%S, InNe .

TYPE 3 - GUIDE RAIL END SECTIONS
LOT X (Items #295 - 331)

ROAD SYSTEMS INC. "BEAT-MT" MEDIAN TERMINAL
SYSTEM

CLASSD - (Lot X- Ttems #302 - 323 ):(Cont'd)

Item Code Estimated

No. No. Description uanti
310. i 3/4"x1-1/2" Lg. Grade 5 Bolt 8
311§ Sl 946" Hex Nut 5
312. k 1/4" Hex nut 1
313. m 1/2" Hex Nut 2
314 n 5/8" Hex Nut 18
315. P 3/4" Hex Nut 8
316. q 1" Anchor Cable Hex Nut 2
317. r Sl 246" Washer 10
318. s 1/4" Washer 1
319. t 172" Washer 1
323 X Cable-Tie 2

CLASSE - (Lot X- Items #324 - 330)
324. C Support Bracket, 10 GA.
Bent Plate i

325. D Post Breaker i

326. G Bearing Plate 1

327. H Box Beam Head 1

328 1 Median Barrier Support Bracket 4

{continued) -
206741.doc/PSGTeam 06/jem

Unit
Delivered
Price .
R 50
75
. 50
Lo O
75
TS,
125
45
_4s
.50

- 55

X0.00 .

/A0, 00
/5.00

575 %
30°°

Total
Delivered
Price

Slo.0D
575
90
120
13.50
480
_2.50
_%.50
45
50
1D

K. 00
0.0
15.00
525°°
30°7




Group 32000 - Guide/Bridge Rails, End Sections, & Accessories (Statewide) - . PAGE 60

PLEASE USE BLACK INK OR TYPEWRITER WHEN
PREPARING YOUR BID. BE SURE YOU HAVE
INSERTED YOUR COMPANY’S NAME IN THE BOX

=R 22 2=

Bidder

*T':;VM"B H’ﬂ [1 wAﬂ | p rw!m‘{) / Ll

TYPE 3 - GUIDE RAIL END SECTIONS
LOT X (Items #295 -331)
ROAD SYSTEMS INC. "BEAT-MT" MEDIAN TERMINAL

SYSTEM: (Cont'd) :

CLASS E - (Lot X- Items #324 - 330)(Cont’d)

Item Code : Estimated
No. No. Description uanti
329. K End Tube Section Tie Plate 2
330. L TS 6"x6" to 6"x8"

Connection Sleeve 1

CLASS B - (Lot X- Item #331)

331.  One complete Beat-MT Median Terminal,
all above Beat-MT components and including
discount for ordering a complete system 1
(includes object marker decals - E3151)

GRAND TOTAL BID - LOT X [Items #295-331]:

Manufacturer's Name:
Manufacturer's Plant Address:
Guaranteed Delivery:

TYPE 3 - GUIDE RAIL END SECTIONS

LOT XI (Items #332- 378)

TRINITY INDUSTRIES INC. "BOX BEAM END ASSEMBLY
TYPE IIT"

CLASS A - (Lot XI- Items #332 -339)

Item Code ' Estimated
No. No. Description uanti
332. 705G 2" x 5-1/2" Pipe 1

333. 736G 5'/TUBE SL/.188"x6"x8" FLA = 2

334.  14959A 5' 4" Post/5.7#/.25 PL.MKD 1

335,  32306A 3/16"x6"x6" TS Inner Tube

WY BET 1
336. 32307A Outer Tube, WY BET 1
337.  32309B 1/4"x6"ODx 11'2"
COMP W/Cap 1
(continued)

20674i.doc/PSGTeam 06/jem

Unit . _ Total
Delivered Delivered
Price Price
s No Bip
Days A/R/O

Unit Total
Delivered Delivered
-Price Price

$ ‘_LC)O $_;’c 9°
120,40 240,
é,'°70. &1‘70

768,87 708, %"
65640 L5610

389, % 29,9

Group 32000 - Guide/Bridge Rails, End Sections, & Accessories (Statewide) PAGE 60

PLEASE USE BLACK INK OR TYPEWRITER WHEN
PREPARING YOUR BID. BE SURE YOU HAVE
INSERTED YOUR COMPANY’S NAME IN THE BOX

g

Bidder

Koadd S RSTEeMs, TN .

TYPE 3 - GUIDE RAIL END SECTIONS

LOT X (Items #295 -331)

ROAD SYSTEMS INC. "BEAT-MT" MEDIAN TERMINAL
SYSTEM: (Cont'd)

CLASSE - (Lot X- Items #324 - 330)(Cont’d)

Item Code Estimated
No. No. Description uanti
329, K ) End Tube Section Tie Plate 2
330. L TS 6"x6" to 6"x8"

Connection Sleeve 1 .

CLASS B - (Lot X- Item #331)

331. One complete Beat-MT Median Terminal
all above Beat-MT components and including
discount for ordering a complete system 1
(includes object marker decals - E3151)

GRAND TOTAL BID - LOT X [Items #295-331]:

Manufacturer's Name:
Manufacturer's Plant Address:
Guaranteed Delivery:

TYPE 3 - GUIDE RAIL END SECTIONS
LOT XI (Items #332- 378)

TRINITY INDUSTRIES INC. "BOX BEAM END ASSEMBLY
TYPE III"

CLASS A - (Lot XI- Items #332 -339)

Item Code Estimated
No. No. Description uanti
332. 705G 2" x 5-1/2" Pipe 1

333. 736G 5/TUBE SL/.188"x6"x8"FLA 2

334, 14959A 5' 4" Post/5.7#/.25 PL MKD 1

335, 32306A 3/16"x6"x6" TS Inner Tube

WY BET 1
336.  32307A Outer Tube, WY BET 1
337.  32309B 1/4"x 6" OD x 11'2"
COMP W/Cap 1
{continued) ~

20674i.doc/PSGTeam 06/jem

Unit Total
Delivered Delivered
Price Price

g ® ° , , E QP
/130 °~ [30°%°

2850°° z850°

s (D3 . 4D

Rocol SHSTams, Tre .

Slell Hovprd Co. AirPorr R4 .
45 Days A/R/O

Unit Total
Delivered " Delivered
Price Price

$



Group 32000 - Guide/Bridge Rails, End Sections, & Accessories (Statewide)

PAGE 61

PLEASE USE.BLACK INK OR TYPEWRITER WHEN

PREPARING YOUR BID.

BE SURE YOU HAVE

INSERTED YOUR COMPANY’S NAME IN THE BOX

D D D D

Bidder

Trinity Highuay Pdes Li

TYPE 3 - GUIDE RAIL END SECTIONS
LOT XI (Items #332- 378)

TRINITY INDUSTRIES INC. "BOX BEAM END ASSEMBLY

TYPE 11"

CLASS A - (Lot XI- Ttems #332 -339) (Cont’d)

Item
No.
338.

339.

Code
No.
32310B

32515A

Description
1/8"x6"ODx 7' 6"

. Comp W/Cap

5' 4" Post/5.7#/Line

CLASS C- (Lot XI- Items #340 - 342)

340.

341.

342.

3000G

 5044G

5092G

CBL 3/4" x.6'-6"/DBL SWG/
NOHWD

1/4" Aircraft Cable 6'-10" Lg.

1/4" Aircraft Cable Thimble

CLASS D - (Lot XI- Items #343 - 361)

343,
344,
345.
346.

347.

348.
349.
350.
351.
352.
353.

354.

3240G

3245G

3254G

3255G

3300G

3340G

3478G

3497G

4044G

4428G

4300G

4303G

5/16" Round Washer

5/16" Hex Nut A563

3/8" x 1-1/2" Lag Screw A307
3/8" Round Washer F844 ST

5/8" Round Washer
1-3/4" O.D. -

5/8" GR Hex Nut

5/8" x7-1/2" Hex Bolt A307
5/8" x 9-1/2" Hex Bollt A307
1-1/4" Hex Nut A194 2H
3/8"x4" Lag Screw A307
1/2" Round Washer F844

1/2" Hex Nut A563 GRA

20674i.doc/PSGTeam 06/jem

Estimated
uanti

1

6

4

2

18

(continued)

Unit
Delivered
Price

304, 60
53, 00

73.7¢

Total
Delivered
Price

~ BOLI 60

218 Y

73.79
‘ ‘21 10

3,80

6,30
o, 45

JP
N
"




TYPE 3 - GUIDE RAIL END SECTIONS

Group 32000 - Guide/Bridge Rails, End Sections, & Accessories (Statewide)

" PAGE 62

PLEASE USE BLACK INK OR TYPEWRITER WHEN
PREPARING YOUR BID. BE SURE YOU HAVE
INSERTED YOUR COMPANY’S NAME IN THE BOX

=D D D D D

Bidder

_ani‘\"l:’ H:ﬂ['m;nj R roo(m‘f; Lic

LOT X1 (Items #332 - 378)
TRINITY INDUSTRIES INC. "BOX BEAM END ASSEMBLY
TYPE II" : ' :

CLASS D - (Lot XI- Items #332 - 361): (Cont’d)

Item Code Estimated
No. No. Description uanti
355.  4308G 1/2" x 1-1/2" Hex Bolt A307 9

356.  4902G - 1" Round Washer F436 2

357. 4903G 1" Hex Nut A194 2H 4

358. 5188G 5/16" x 7-1/2" Hex Bolt A307 3

359.  5433G 1-1/4" x 36" ATR A449 1

360. 5968G Nail 16d SRT 2

361. 9961G 3/8" x 3" x 4" LP Washer | 1

CLASS E - (Lot XI- Items #362 - 376 )

362. 722G Nose Rest, CBL BRKT

WY-BET 1

363, 766G 25"x 18" x 24" Soil Plate 3H 2

364. 775G 5/8" x 6" x 8" Bearing Plate 1
365.  3042B Delineation Tape .

AMB 1.75"x1.25" 6
366. 3177B ET Reflector

18x18 yellow-black 1
367. 4106B PAD 15" x3.5" x4" Rubber 3
368.  4192G CBL 1/4" Clamp 4
369.  9640G 3/8" x 5" x 3-1/2"x

4-1/2" PST Angle 3
370.  9641G 1/8" x4-1/2" x

1' 7-1/8" SH Angle 3
371, 9642G 1/8" x 4-1/2" x

11-1/8" SH Angle 1

(continued)
20674i.doc/PSGTeam 06/jem o

Unit
Delivered
Price

_0:35

25, 60

’

Total
Delivered

Price, ) 5




Group 32000 - Guide/Bridge Rails, End Sections, & Accessories (Statewide) PAGE 63

PLEASE USE BLACK INK OR TYPEWRITER WHEN Bidder

PREPARING YOUR BID. BE SURE YOU HAVE

INSERTED YOUR COMPANY’S NAME IN THE BOX ’—F.l“h;--bj H iq Hw?fl R.d +, LLe
== . .

TYPE 3 - GUIDE RAIL END SECTIONS
LOT XI (Ftems #332 - 378) ‘ :
TRINITY INDUSTRIES INC. "BOX BEAM END ASSEMBLY

TYPE HI": CLASSE - (Lot XI- Items #362 - 376 )(Cont'd) o
Unit Total

Item Code Estimated Delivered Delivered
No. No. Description uanti Price Price
. | 90
372. 9852A  Strut & Yoke Ass'y 1 M R ad
373. 32300A WY BET End Terminal 1 - TN, HO T, 40
374. 32301A 10" TS 6"x 6" Intermd Spacer 1 195,%¢ 195, %
'375. 32305A  BRKWY Tensile Conn- .
' WY BET 1 | M4, 60 ) 4uf, 60
376. 32312G  Reflector Channel - White 3 7, 7° 23,10

CLASS F - (Lot XI- Item #377)
377. 4066B WD 3'-6-1/2" Post 6"x8"

WY-BET 1 i, HO Hif HO

CLASS A - (Lot XI- Item #378)
378.  One complete Box Beam End

Assembly System, including all
above components and including

discount for ordering one complete )
system. 1 L’ ,“‘49:0 /‘", 4490 oo
GRAND TOTAL BID - LOT XI [Items #332 - 378]: - s__9,287, “45
Manufacturer's Name: I“ihi""q qu t\mq Pm ch@fk, L
Manufacturer's Plant Address: 1170 N, St Sk, " Girord, Ohig Hi20
" Guaranteed Delivery: doteo HS Days A/R/O

(continued)
20674i.doc/PSGTeam 06/jem -



Group 32000 - Guide/Bridge Rails, End Sections, & Accessories (Statewide) PAGE 64

PLEASE USE BLACK INK OR TYPEWRITER WHEN Bidder

PREPARING YOUR BID. BE SURE YOU HAVE
INSERTED YOUR COMPANY’S NAME IN THE BOX

A

Teinhy Highung Rcy LLC

TYPE 3 - GUIDE RAIL END SECTIONS
LOT XII (Items 379-402)
TRINITY INDUSTRIES INC. "ET 2000 PLUS" SYSTEM

CLASS A - (Lot XII- Items #379 - 380)

Item Code Estimated
No. No. Description uanti
379. 705G Pipe Sleeve 2" STD Pipe x

. 5-1/2" . 1

380. 740G 6"x8"x54"x3/16" Tube Sleeve 8

CLASS B - (Lot XII- Items #381 - 383 )

381. 9G 12 ga/12'6"/6'3"/S Guardrail 3
383. 32G "12ga/12'6"/6'3"/S
ANC Guardrail 1
CLASS C - (Lot XII- Item #384)
384, 3000G Cable Assembly 3/4"x6'6" 1
CLASS D - (Lot XJ)- Items #385 - 395)
385.  3300G 5/8" Washer, Round 11
386. 3340G 5/8" GR Hex Nut 63
387. 3360G 5/8"x1-1/4" HGR Splice Bolts 32
388. 3478G 5/8"x7-1/2" Hex HD Bolt 16
389.  3497G 5/8"x9-1/2" Hex HD Bolt 8
390.  3500G 5/8" x 10" HGR Post Bolt 1
391, 3580G 5/8"x18" HGR Post Bolt 6
392.  3900G 1" Round Washer F844 | 2
393.  3910G 1" Hex Nut A563 2
394, 4228G 3/8"x4" LAG Screw A307 2
395.  704A Cable Anchor Bracket ET2000 1

(continued)

20674i.doc/PSGTeam 06/jem

Unit
Delivered
Price

s 4,90

JoH . @°

lolo, 29

- _ 70
115, 7

72, %

Total
Delivered
Price

s M,
%30, 5°

198, 90

11570

,,72'60

2,20
31,%%
)2, 8°
32,°°
o

2 a0

18, ©@

], 9@
], @0

5,

119,




Group 32000 - Guide/Bridge Rails, End Sections, & Accessories (Statewide)

PAGE 65

PLEASE USE BLACK INK OR TYPEWRITER WHEN
PREPARING YOUR BID. BE SURE YOU HAVE
INSERTED YOUR COMPANY’S NAME IN THE BOX

=

Bidder

Trinily Highuny Roduch, ic

TYPE 3 - GUIDE RAIL END SECTIONS
LOT XII (Items 379 - 402)

TRINITY INDUSTRIES INC. "ET 2000 PLUS"
SYSTEM: _(Cont'd)

CLASS E - (Lot XII- Items #396 - 399)

Unit Total
Item Code Estimated Delivered Delivered
No. No. Description . uanti Price Price
: ¥
: . 76 o
396. 766G 18"x24"x1/4" Soil Plate 8 29. 237, 6
397. 782G 8"x8"x5/8" Bearing Plate 1 23, 50 _23. 5¢
398.  995A Guardrail Extruder 1 L97, 50 49T, 50
399.  9852A Strut & Yoke Assembly 1 KR 90 52 0
CLASS F - (Lot XII- Items #400 - 401
400. 4075B Wood Block, 1'2"x i0 y 60
6"x8" DR 6 8 H8, &€
401. 4147B Wood Posts, 3'9"x 00 P
5.5"x7.5" 8 2T, Rib.

CLASS E - (Lot XTI- Item #402)

402.  One complete ET2000 Plus
System, including all above
components and including
discount for purchasing one
complete system. 1

2,334,% 2384, %

’

GRAND TOTAL BID - LOT XII [Items #379 - 402]: s 5, 16!, 20

Manufacturer's Name: Trind High P A "k LLc
Manufacturer's Plant Address: 11770 N. S Yy o UH420

Guaranteed Delivery: 30 tv Hs doge
PN

(Includes 12"x12" hi-intensity yellow black
object markers~(2) per system).

(continued)
20674i.doc/PSGTeam 06/jem .



Group 32000 - Guide/Bridge Rails, End Sections, & Accessories (Statewide) PAGE 66

PLEASE USE BLACK INK OR TYPEWRITER WHEN Bidder _
PREPARING YOUR BID. BE SURE YOU HAVE — -
INSERTED YOUR COMPANY’S NAME IN THE BOX i ,«b ”'ﬂ LW 2 a]u;-bj LiC
e ’ ‘

TYPE 3 - GUIDE RAIL END SECTIONS
LOT XIII (Ttems #403 - 432)
TRINITY INDUSTRIES INC. ET 2000 W/HINGED

BREAKAWAY POSTS
CLASS A - (Lot XIII - Items #403 - 406)
Unit Total
Item Code : Estimated Delivered Delivered
No. No. Description uanti Price Price
403. 33871A  ET HBA Post 1 . /
Top x 2'8-3/4" 1 s 51,10 s 51,10
404.  33872A  ET HBA Post2-8 - 0 o
Top x 2'5-3/4" 7 5Q ‘ 8 355 e
405. 33873A  ET HBA Post 1 & 2 0
Bottom x 6'1-1/2" 2 8. 9 /57.8°
406.  33874A  ET HBA Post 3-8 ’ 20 .~ SO
Bottom x 3'9-1/2" 6 oH,3 385.
CLASS B - (Lot XIII - Items #407 - 408)
0
407.  9G 12 ga/12'6"/6'3"/S Guardrail 3 lolo, 30 198. 9
408.  32G 12 ga/12'6"/6'3"/S ANC 70
Guardrail 1 ‘ ’5 3 7 ’ '5 3 70
CLASS C - (Lot XIII - Ttem #409)
' ' co 60
409.  3000G  Cable Assembly 3/4" x 6'6" 1 2. T2,
CLASS D - (Lot XIII - Items #410 - 427) ’
: . 20 .
410.  3300G 5/8" Round Washer, 1.75" OD 6 0. ], RO
- 0 o
411, 3340G 5/8" GR Hex Nut 38 0.5 19, °°
412.  3360G 5/8" dia. x 1-1/4" GR Bolt 32 0. 40 12, 89
413.  3500G 5/8" dia. x 10" GR Bolt A307 6 2,60 12, °
414, 3701G 3/4" Round Washer F436 19 0. 20_ . 3, 80
. — |
415.  3704G 3/4" Hvy Hex Nut A563DH 16 O 5! .
416.  3717G 3/4" x 2.5" Hex Bolt A325 15 ], RO 18, @
(continued)

20674i.doc/PSGTeam 06/jem -



Group 32000 - Guide/Bridge Rails, End Sections, & Accessories (Statewide) PAGE 67

PLEASE USE BLACK INK OR TYPEWRITER WHEN Bidder

PREPARING YOUR BID. BE SURE YOU HAVE — ’
INSERTED YOUR COMPANY’S NAME IN THE BOX IS ni"l' Highea P duch LLC
N S : .j 9 _.(’ roducty
TYPE 3 - GUIDE RAIL END SECTIONS
- LOT XIII (Items #403-432)
TRINITY INDUSTRIES INC. ET 2000 W/HINGED
BREAKAWAY POSTS:
CLASS D - (Lot XIII - Items #410 -.427)(Cont'd)
: Unit Total
Item Code Estimated - Delivered Delivered
No. No. Description uanti Price : Price
30 30
417. 3718G . 3/4" x 3" Hex Bolt A325° : 1 I i l i
- 50 o
418. 3900G’ 1" Round Washer F844 2 ({ 2; ’, o
0 ()
419. 3910G 1" Hex Nut A563 2 O & Ia b
H " N ’0 49 60
420. - 4076B WD Block 6"x8"x12" Routed 6 _ 8 '
' (0]
421. 4254G 3/8" Round Washer F436 18 O. ! ’ . 80
A _—0 )
422, 4255G 3/8" Fender Washer A307 2 61 ! O ¢ ‘Z(D
423, 4258G  3/8" Lock Washer F436 16 0, 1° ], @0
o .
424. 4261G 3/8"x1.5" Hex Bolt GR-5 2 O L’ 0' 86
. - 0
425. 4699G 3/4" Lock Washer F436 16 0130 “/c 9
426. 6321G 3/8"x2" Hex Bolt GR-5 16 O. 30 ft, 0
427. 6405G 3/8" Hvy Hex Nut A563 GRDH 18 [e) 20 5, @0
CLASS E- (Lot XIII - Items #428 - 431)
| ©0
428.  33875G 66" Angle Strut, ET-HBA 1 H9. . H9, 60
429, 704A Cable Anchor Bracket 1 ‘ ! 9! 0 ) I 9, @
430. 782G 5/8"x8"x8" Bearing Plate 1 23,5° 2359
(V]
431, 995A ET-PLUS Extruder Head 1 697" (97,5°
CLASS B - (Lot XIII - Item #432)
432. One complete ET 2000 HBA Post
System, including all above
components and including discount o . 8] ¢
for purchasing 1 complete system 1 l 195 2 .5 l 1952 ' 59
(includes 12"x12" high intensity yellow black
object markers; (2) per system).

(continued)
20674i.doc/PSGTeam 06/jem -



i Group 32000 - Guide/Bridge Rails, End Sections, & Accessories (Statewide) PAGE 68

PLEASE USE BLACK INK OR TYPEWRITER WHEN
PREPARING YOUR BID. BE SURE YOU HAVE
INSERTED YOUR COMPANY’S NAME IN THE BOX

-

-

Bidder

'.ﬁ»ini*ly Hiﬂtwunj R malQJIILLC

| TYPE 3 - GUIDE RAIL END SECTIONS
| LOT XIII (Items #403-432)
TRINITY INDUSTRIES INC. ET 2000 W/HINGED
BREAKAWAY POSTS:(Cont'd) 9
GRAND TOTAL BID - LOT XII [Items #403 - 432]: $ H L, 323,
Manufacturer's Name: ity M U Freduch, LLC
Manufacturer's Plant Address: ) Sh >V Griverd o YIS 20
| Guaranteed Delivery: 20 :@- L5 dﬁf /S AR/O
|
| TYPE 3 - GUIDE RAIL END SECTIONS
LOT XIV(Items #433-489)
TRINITY INDUSTRIES INC. - "BOX BEAM END ASSEMBLY
TYPE HIC"
CLASS A - (Lot XIV - Items #433 - 440)
Unit Total
Item Code Estimated Delivered Delivered
No. No. Description uanti Price Price
433, 705G 2" x 5-1/2" Pipe 1 S AN,90 5 M, 90
0
434, 736G 5' Tube SL/.188" x 6" x 8" FLA 1 ) 20, u 120, Y0
- e —————
435. 24383A 410" Post/S3 @ 5.7# 3 56,59 1609, 50
436. 32306A  3/16"x 6" x 6" TS Inner Tube . 1 70889 /08, &
437. 32307A  Outer Tube, WY-BET 1 5b, 56, 1P
438.  32309B  1/4"x6" OD x 112" Comp. Tube 1 389, % 289, @
439. 32310B  1/8"x 6" OD x 7'6" Comp. Tube 1 304, @ . 304, Go
. | - 30
440. 32506A  4'10" S3 Post WYO MED 4 7 30 473
CLASS C - (Lot XIV - Items #441 - 443)
441, 3000G Cable 3/4" 6'-6"/DBL SWG o " 70
No Hardware ! 737" 737
442, 5044G 1/4" Aircraft Cable 6' 10" Lg. 1 21,79 /. /°
443,  5092G 1/4" Aircraft Cable Thimble 2 ’ . 9 0 [ 7 70
(continued)

20674i.doc/PSGTeam 06/jem




Group 32000 - Guide/Bridge Rails, End Sections, & Accessories (Statewide) PAGE 69

PLEASE USE BLACK INK OR TYPEWRITER WHEN Bidder
PREPARING YOUR BID. BE SURE YOU HAVE

INSERTED YOUR COMPANY’S NAME IN THE BOX | T'n;h ’_hj hw fj p ! "’5/ LLC_

=

TYPE 3 - GUIDE RAIL END SECTIONS
LOT XIV (Items #433 - 489)
TRINITY INDUSTRIES INC."BOX BEAM END ASSEMBLY
TYPE IIIC": (Cont’d)
CLASS D - (Lot XIV - Items #444 -471)
, Unit Total
Item Code . Estimated Delivered Delivered
No. No. Description Quantity Price Price o
444, 3240G . 5/16" Round Washer 3 Q.10 0.3
45
445.  3245G 5/16" Hex Nut A563 3 o.l5 o “4
446. 3254G 3/8" x 1-1/2" Lag Screw A307 3 3, %. 10, 20
447.  3255G 3/8" Round Washer F844 ST 4 ., I3 O 52
448.  3300G 5/8" Round Washer 1-3/4"OD 12 O 30 3, 60
449. 3340G  5/8" GR Hex Nut 6 _0.5° 3,9
450. 3478G 5/8" x 7-1/2" Hex Bolt A307 4 2, lo 8 HO
451, 3497G 5/8" x 9-1/2" Hex Bolt A307 2 2 ,30 N, 60
' ' 20 &0
452, 3700G 3/4" Round Washer_F844 16 Oy B ‘"Ia
453.  3701G 3/4" Round Washer F436 4 0,50 ), 20
454. 3710G 3/4" Hex Nut A563 . 8 qQ, ©0 H, &0
455. 3711G 3/4" Hex Nut A194 2H 4 0. HO l: 60
456. 3714G 3/4" x 1.5" Hex Bolt A307 8 3,30 2o HGO
457. 4044G 1-1/4" Hex Nut A194 2H 4 H, 90 19, @0
458. 41068 Pad 1.5 x 3.5 x 4 Rubber 3 34,60 | 103, %°
459. . 4192G Cbl 1/4" Clamp 4 3.9 12. %
460. 4228G 3/8" x 4" Lag Screw A307 1 2, 90 2, 90
20 o
.461. 4300G v 1/2" Round Washer F844 32 O * (Dl 4
" 26
462.  4303G 1/2" Hex Nut A563 Grade A 16 O, 3, 20
463. 4308G 1/2" x 1-1/2" Hex Bolt A307 12 O 35 “} 20

(continued)
20674i.doc/PSGTeam 06/jem -



Group 32000 - Guide/Bridge Rails, End Sections, & Accessories (Statewide) PAGE 70

PLEASE USE BLACK INK OR TYPEWRITER WHEN Bidder
PREPARING YOUR BID. BE SURE YOU HAVE

INSERTED YOUR COMPANY’S NAME IN THE BOX Tei h&‘j H’f] e [ AM d’/ Li€

=

TYPE 3 - GUIDE RAIL END SECTIONS
LOT XIV (Items #433-489) -
TRINITY INDUSTRIES INC."BOX BEAM END ASSEMBLY
TYPE HIC":CLASS D - (Lot XIV - Items #444 - 471):(Cont’d)
) Unit Total
Item Code Estimated Delivered Delivered
No. No. Description uanti : Price Price
464. 4699G  3/4" Lock washer F436 4 0T _[,_2_0
) . _ 0
465.  4715G 3/4" x 8" Hex Bolt A325 4 3,70 14, ¥
_ — —
466.  4902G 1" Round Washer F436 2 (o]} b ), 20
0
467. - 4903G 1" Hex Nut A194 2H 4 B L0 (o, ¥
) 0
468. 5188G 5/16" x 7-1/2" Hex Bolt A307 3 5,0 1o, 2
o
469.  5299G 1/2" x 9" Hex Bolt A307 4 o 24, HO
470.  5423G 1-1/4" x 36" ATR A449 1 36,% A, P
Q5
471, 5968G Nail 16d SRT 2 4. O. /0
CLASS E - (Lot XIV - Items #472 - 486 ) g
472. 722G Nose Rest Cable Bracket \ i)
WY-BET . 1 55,10 55,
. " " n M % 2 60
473. 766G . .25"x18"x24" Soil Plate-3H 2 3o . TA.
. O
474. 775G 5/8" x 6" x8" Bearing Plate 1 25, b R5, &0
475. 3177B ET Reflector ’
_ o
18x18, Yellow-Black 1 354 w 35: &
476.  9694G Support Bracket, WY-BET 4 22, 90 9, o
477. 9695G  Support Bracket, WY-BET 6 39,59 237.%
478.  9696A Splice Sleeve, WY-BET - 1 67.7° 267, 79
)
479.  9697G 0.1875 x 8 x 6 Plate 2 18.° 3. ©
480.  9698A 5'0 Tube w/Base Plate, WY 1 )77, 177 @0
481. 9852A  Strut & Yoke Assembly 1 84,% &4 8
0 o
482.  9961G 3/8" x 3" x 4" Plate Washer 1 7. 9 7,?
(continued)

20674i.doc/PSGTeam 06/jem -



Group 32000 - Guide/Bridge Rails, End Sections, & Accessories (Statewide)

PAGE 71

PLEASE USE BLACK INK OR TYPEWRITER WHEN
PREPARING YOUR BID. BE SURE YOU HAVE
INSERTED YOUR COMPANY’S NAME IN THE BOX

B~

Bidder

Trinity Highany Redeh, 11c

TYPE 3 - GUIDE RAIL END SECTIONS
LOT XIV (Items #433-489) ~
TRINITY INDUSTRIES INC."BOX BEAM END ASSEMBLY
TYPE HIC": CLASS E - (Lot XIV - Items #472 -486 ) (Cont’d)
Unit Total
Item Code ' Estimated Delivered Delivered
No. No. Description uanti Price Price .
483. 32300A  WY-BET End Terminal 1 Tidlo, HO Tk, 40
484. 32301A  10"TS 6" x 6" Intermediate Spacer 1 195.° 195,
485.  32305A Breakaway Tensile Connector _ O ' '
| WY-BET 1 144, 4.
. - ]O
486. 32313G  Reflector 3 7 Jo 23,/
CLASS F - (Lot XIV - Items #487 -488 ) - _ o O
487. 3121B Wood Block - 12x7.5x7.5 1 ,51 L’ 15/{
488. 3122B Wood Post - 3°0 WY-BET 1 29, 0 erl 5
CLASS A - (Lot XIV - Item #489)
489.  One complete Box Beam End
Assembly System, including all above
components and including discount oo o o0
for ordering asa complete system 1 "I, 9["8- LI.! 968’
GRAND TOTAL BID - LOT XIV [Items #433 - 489]: s 10,177 47
. Manufacturer's Name: ronhy Hh ,‘Gﬁ) LiC
Manufacturer's Plant Address: H7oN - Shte St ,Ohjo HY420
Guaranteed Delivery: 36 4o 45" Days A/R/O
BID SUMMARY Indicate by Check Mark or “s” as appropriate
LOT # BID NO BID .
11 X
2 I X
3 X
4 IV X
5 V
6 VI
7 VII )(
8 VIII X
9 IX X
10 X X
11 XI X
12 XII X
13 XIII X
14 X1V R
(continued)

20674i.doc/PSGTeam 06/jem -



AUG'UB"ZUUT 034ZPM FRDM"‘ 1=uuL [F. U437 Vdo r-Jev

INSERTED YOUR COMPANY’S NAME IN THE BOX

Group 32000 - Guide/Bridge Rails, End Sections, & Accessories (Statewide) - PAGE 71 lj
f Group 32000 - Guide/Bridge Rails, End Sections, & Accessories (Statewide) PAGE 71
| .
EASE USE BLACK INK OR TYPEWRITER WHEN Bidder _ uopl |
];IﬁE;AmNG YOUR BID. BE SURE YOU HAVE ¥§"‘;e;::f;§§:‘;¥:;est PRY |
INSERTED YOUR COMPANY'S NAME IN THE BOX NY 13208 PLEASE USE BLACK INK OR TYPEWRITER WHEN Bidder
- > > o = = 'qu:f\c:zs:” b PREPARING YOUR BID. BE SURE YOU HAVE
) & - : ’
|

oD DD DD =
LOT X1V (Items #433-489) : )
TRINITY INDUSTRIES INC."BOX BEAM END ASSEMBLY : ‘ TYPE 3 - GUIDE RAIL END SECTIONS
TYPE 1LIC": CLASS E - (Lot XIV - Items #472 -486 ) (Cont’d) . Total LOT XIV (Items #433-489)
FRS WU L _ UnIF 0 a wred TRINITY INDUSTRIES INC."BOX BEAM END ASSEMBLY
ltem Code Estimated Delivered Delivere TYPE HIC": CLASS E - (Lot XIV - Items #472 -486 ) (Cont’d)
No. No. Description Quantity Price Price Unit Total
483. 32300A  WY-BET End Terminal 1 - - Iem Code Estimated Delivered
No. No. Description uanti Price
484, 32301A 10" TS 6" X 6" Intennediate Spaccr 1 ———— e 483. 32300A WY-BET End Terminal 1
485. 32305A Breakaway Tensile Connector 484, 32301A ° 10" TS 6" x 6" Intermediate Spacer 1
WY-BET 1 .
. ) 485.  32305A Breakaway Tensile Connector
486, 32313G Reflector 3 - S WY-BET 1
CLASS F - (Lot XIV - Ttems #487 -488 ) I 486. 32313G Reflector 3
-12x75x7. —_— —_—
487. 3121B Wood Block - 12 x CLASS F - (Lot XIV - Items #487 -488 )
o 31228 Wood Post - 3'0 WY-BET 1 487. 3121B Wood Block-12x75x%x7.5 1
CLASS A - (Lot XIV - Item #489 488. 3122B Wood Post - 3°0 WY-BET 1
- 0 -
489. One complete Box Beam End CLASS A - (Lot XIV - Item #489)
Assembly System, including all above ‘ 489.  One complete Box Beam End
compenents and mcludlmg discount | g Assembly System, including all above
for ordering as a complete system — components and including discount
GRAND TOTAL BID - LOT XIV [Items #433 - 489); s_No ®iO forordering as @ complete system :
Marts I\t'lanu'fa;tluretr: ;‘éf;;ﬂs; GRAND TOTAL BID - LOT XIV [Items #433 - 489 $
anufacturer's Plan ¢ ' Manufacturer's Name:
Guaranteed Delivery: — Days A/R/O Manufacturer's Plant Address:
BID SUMMARY Indicate by Check Mark or #x™ as approprinte Guaranteed Delivery: ___  DaysAR/O
LOT# ‘BID NO BID BID SUMMARY Indicate by Check Mark or “x” as appropriate ‘ ,
1 1 X LOT # BID NO BID
211 X 11 : X
31 A 2 u ¥
a 1 X 3 I v
5 v X 4 v X
6 Vi X 5 v Y
7_VII X 6 VI X
8 Vil X, 7 Vi X
9 IX X 8 VII X
10X A 5 IX X
1n_xl X 10X X
12 X1 . 1 X1 X
3 Xl X 12 X1 X
14 X1V X 13 X1 X
14 xiv X
(continued) tinued
. .
20674i.doc/PSGTearmn 06/jem (continued)

206741.doc/PSGTeam 06/jem

08/06/07 MON 16:07 [TX/RX NO 60491 [d043



Group 32000 - Guide/Bridge Rails, End Sections, & Accessories (Statewide) '_ _

PAGE 71

PLEASE USE BLACK INK OR TYPEWRITER WHEN
PREPARING YOUR BID. BE SURE YOU HAVE
INSERTED YOUR COMPANY’S NAME IN THE BOX

e

Bidder

Qas\-ena\ ComPoﬂ b

TYPE 3 - GUIDE RAIL END SECTIONS
LOT XTIV (Items #433-489)
TRINITY INDUSTRIES INC."BOX BEAM END ASSEMBLY
TYPE IIC": CLASSE - (Lot XIV - Items #472 -486 ) (Cont’d)
Unit Total
Item Code Estimated Delivered Delivered
No. No. Description Quantity Price Price
483. 32300A WY-BET End Terminal 1
484. 32301A 10" TS 6" x 6" Intermediate Spacer 1
485. 32305A Breakaway Tensile Connector
WY-BET - 1
486. 32313G Reflector 3
CLASS F - (Lot XIV - Items #487 -488 )
487. 3121B Wood Block - 12x7.5x7.5 1
488. 3122B Wood Post - 3°0 WY-BET 1
CLASS A - (Lot X1V - Item #489)
489.  One complete Box Beam End
Assembly System, including all above
components and including discount
for ordering as a complete system 1
GRAND TOTAL BID - LOT XIV [Items #433 - 489]: $
Manufacturer's Name:
Manufacturer's Plant Address:
Guaranteed Delivery: Days A/R/O
BID SUMMARY Indicate by Check Mark or “x” as appropriate
LOT # BID NO BID
1 1 X
2 1 X
3 Mm X
4 1V X
5 v P
6 VI %,
7 VI X
8 VI X
9 IX A
10 X %
11 XI %
12 X1 %,
13 XIm S
14 X1v X

(continued)

20674i.doc/PSGTeam 06/jem

Group 32000 - Guide/Bridge Rails, End Sections, & Accessories (Statewide) PAGE 71

PLEASE USE BLACK INK OR TYPEWRITER WHEN
PREPARING YOUR BID. BE SURE YOU HAVE
INSERTED YOUR COMPANY’S NAME IN THE BOX

=D DD DS D

Bidder

G regory .

vy Pret—

TYPE 3 - GUIDE RAIL END SECTIONS

LOT XIV (Items #433-489)
TRINITY INDUSTRIES INC.”BOX BEAM END ASSEMBLY

TYPE HIC": CLASSE - (Lot XIV - Items #472 -486 ) (Cont’d)

Item Code Estimated
No. No. Description Quantity
483. 32300A WY-BET End Terminal 1

484. 32301A 10" TS 6" x 6" Intermediate Spacer 1

485. 32305A Breakaway Tensile Connector
WY-BET 1

486. 32313G  Reflector /

CLASS F - (Lot XTIV - Items #487 -488
487. 3121B Wood Block - 12 x 7.5% 7.5 1

488. 3122B 0 WY-BET 1

. Wood Post -
CLASS A - (Lot XIV - Itemf@

489. One complete'Box Beam End
Assemb stem, including all above
compohents and including discount
ﬁa{/cf;gering as a complete system 1
o /GRAND TOTAL BID - LOT XIV [Items #433 - 489]:
Manufacturer's Name:
4 Manufacturer's Plant Address:
Guaranteed Delivery:

Unit
Delivered
Price

BID SUMMARY Indicate by Check Mark or “x” as appropriate

LOT#. BID NO BID

PP PR XX

<
[=|

<

oo [Ny [ [ (W |-

oy
(—J
w | |

[«

12 XII

13 XHI

14 XIV

PRPPRPR I B

(continued)
20674i.doc/PSGTeam 06/jem

Days A/R/O



Group 32000 - Guide/Bridge Rails, End Sections, & Accessories (Statewide) PAGE 71

1 Group 32000 - Guide/Bridge Rails, End Sections, & Accessories (Statewide) PAGE 71
|
PREPARING. YOUR b | NE Som o seEN Bidder PLEASE USE BLACK INK OR TYPEWRITER WHEN Bidder
ED Y R DiHIGHWAY SIGN & STR PREPARING YOUR BID. BE SURE YOU HAVE :
INSERTED YOUR COMPANY’S NAME IN THE BOX ’ —
POBOX123 INSERTED YOUR COMPANY’S NAME IN THE BOX (= —eAL == L
=D D DD D D . . LohERVEL NaC
NEW YORK MiLES NY 13417-0123 DD DD D
TYPE 3 - GUIDE RAIL END SECTI |
mm—m‘ . TYPE 3 - GUIDE RAIL END SECTIONS
TRINITY INDUSTRIES INC."BOX BEAM END ASSEMBLY | LOTXIV (Items #433-439)
TYPE IIIC": CLASSE - (Lot XIV - Items #472 -486 ) (Cont’d) ‘ TRINITY INDUSTRIES INC."BOX BEAM END ASSEMBLY
. I Unit Total 1 TYPE HIC": CLASSE - (Lot XIV - Items #472 -486 ) (Cont’d)
Item Code Estimated Delivered Delivered . Umjc TOt?I
No. No. Description Quantity Price Price Item Code o Estlme?ted Delivered Delivered
483. 32300A  WY-BET End Terminal 1 No . No. Mo, Description Quantity - Drice Price
v M -0 483. 32300A WY-BET End Terminal 1
484. 323014 10" TS 6" x 6" Intermediate Spacer 1 A6 31D 0 ,
- A - 484. 32301A 10" TS 6" x 6" Intermediate Spacer 1
485. 32305A Breakaway Tensile Connector ‘ 485, 32305A Break Tensile C +
WY-BET - 1 A O Rid Is) ‘ . reakaway Tensile Connector
— | WY-BET 1
486. 32313G  Reflector 3 D)
' 486. 32313G Reflector 3
CLASS F - (Lot XIV - Items #487 -488 ) i
487. 3121B Wood Block - 12 x7.5x 7.5 1 No BID o f CLASS F - (Lot XIV - Items #487 -488 )
- — ; 487. 3121B Wood Block-12x7.5x7.5 1
488. 3122B Wood Post - 3’0 WY-BET 1 No 3D 0
) 488. 3122B Wood Post - 3’0 WY-BET 1
CLASS A - (Lot XIV - Item #489) :
489.  One complete Box Beam End CLASS A - (Lot XIV - Item #489)
Assembly System, including all above 489.  One complete Box Beam End
components and including discount I Assembly System, including all above
for ordering as a complete system 1 Ao B1D o components and including discount
for ordering as a complete system 1
GRAND TOTAL BID - LOT XIV [Items #433 - 489]: $ N A
Manufacturer’s Name: GRAND TOTAL BID - LOT X1V [Items #433 - 489]: $
Manufacturer's Plant Address: Manufacturer's Name:
Guaranteed Delivery: Days A/R/O Manufacturet's Plant Address:
_ B ———— Guaranteed Delivery: Days A/R/O
BID SUMMARY Indicate by Check Mark or “x” as appropriate ———
LOT # BID NO BID BID SUMMARY Indicate by Check Mark or “x” as appropriate ,
1 1 X LOT # BID NO BID
2 I X 1 1 - X
3 I Py 2 I X
4 1V %y 3 X
5 V X 4 IV X
6 VI x 5 Vv X
7 VIl X § VI X
3 VI < 7 VI X
9 IX < 8 VIII x
10 X < 9 IX %
12 XII s< 1 Xi X
13 XHI > 12 X1 ¥
14 X1V > 13 X1 %
14 X1V X
(continued) .
20674i.doc/PSGTeam 06/jem (continued)

20674i.doc/PSGTeam 06/jem



